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16-1. BEBIEHEIRE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 765 176 S 0 76.9 =+ 3.1 ( 80.0 - 73.9
1 -2 584 19 5 0 66.5 £t 3.4 (69.9 - 63.0
%%.% 2 -3 500 52 11 0 §9.5 + 3.6 (63.1 - 55.89
3 -4 437 33 9 0 54.9 + 3.6 (68.6 - 51,3
4 - 6 395 23 40 0 651.6 + 3.7 (55.2 - 47.9
5 - 332 332
TOTAL 765 363 70 332
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 645 148 7 0 76.9 + 3.3 (80.3 - 73.6
1 -2 430 58 8 0 67.7 £+ 3.7 (C71.4 - 64.0
%}%.t{ 2 -3 424 29 6 0 63.1 + 3.8 (66.9 - 59.3
3 -4 389 24 10 0 §9.1 £+ 3.9 (63.!' - 55,2
4 -5 355 16 33 0 56.3 + 4.0 (60.3 - 52.4
5 - 306 306
TOTAL 645 275 64 306
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR
0 -1 867 167 6 0 80.7 £+ 2.7 (83.4 - 78.0
E‘ . % 1 -2 694 99 S 0 69.1 £ 3.1 ( 72.3 - 66.0
2N 2 -3 590 69 7 0 61.0 £ 3.3 (64.3 - 57.7
l_‘u;ﬁ 3 -4 514 46 14 0 §5.5 £+ 3.4 ( 58.9 - 52,
4 - 5 454 26 46 0 52.1 + 3.4 (55.6 - 48.7
5 - 382 382
TOTAL 867 407 78 382
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0o -1 651 79 4 0 87.8 = 2.6 ( 90.4 - 85.3
E‘% ﬁ- 1 -2 568 78 7 0 75.7 £+ 3.4 C79.1 - 72,3
. 2 -3 483 52 4 0 67.5 £+ 3.7 (71.2 - 63.8
= 3 -4 427 40 7 0 61.1 £+ 39 (650 -57.3
4 -5 380 25 33 0 56.9 £+ 3.9 (60.9 - 53.0
5 - 322 322
TOTAL 651 274 55 322
16—1 SURVIVAL RATE #W - Pin= 650— o
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16-2. BLHEFR(ZOMHLOELER)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUNULATIVE GREENWQOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 8 5 0 0 37.5 + 34.2 (¢ 71.7 - 3.3)
1 -2 3 0 0 0 37.5 + 34.2 (7.7 - 3.3)
2-3 3 0 o 0 37.5 + 34.2 (71.7 - 3.3)
3 -4 3 0 1 0 37.6 £ 34.2 (71.7 - 3.3)
4 - 8§ 2 4] 0 0 37.5 £ 34.2 (¢ 71.7 - 3.3)
5 - 2 2
TOTAL 8 5 1 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE ° 5X STD ERROR
0 -1 9 4 ] 0 55.6 + 33.1 ( 88.7 - 22.4 )
1 -2 S 0 0 (4] §5.6 + 33.1 ( 88.7 - 22.4 )
2-3 5 0 0 0 55.6 + 33.1 (88.7 - 22.4)
3 -4 5 0 0 0 §5.6 + 33.1 ( 88.7 - 22.4 )
4 - 5 5 0 0 [v] 55.6 + 33.1 ( 88.7 - 22.4)
5 - S 5
TOTAL 9 4 0 5
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE X STD ERROR
0-1 18 8 0 0 56.6 t 23.4 ¢ 79.0 - 32.1)
1 -2 10 1 0 0 50.0 + 23.6 ( 73.6 - 26.4 )
2-3 9 1 0 0 44.4 + 23.4 ( 67.9 - 21.0)
3-4 8 1 1 0 38.5 + 23.1 (61.6 - 15.4)
4 - 5 6 1 2 ] 30.8 = 23.1 (53.9 - 7.8)
5 - 3 3
TOTAL 18 12 3 3
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 23 6 o] 0 73.9 + 18,3 (92,2 - 55.6 )
1 -2 17 1 1 0 69.4 + 19.3 (88.7 - 50.2 )
2 -3 15 2 0 0 60.2 £ 20.7 (80.9 - 39.5)
3 -4 13 0 1 0 60.2 £ 20.7 (80.9 - 39.5)
4 - 5 12 2 2 1] 49.2 + 22.0 (C 71.2 - 27.3)
5 - 8 8
TOTAL 23 11 4 8
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATI]VE GREENWQOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 366 37 2 0 8.8 £+ 3.2 (93.0 - 86.7
1 -2 326 18 3 0 84.6 £ 3.8 (88.4 - 80.8
2 -3 304 27 5 0 77.0 £ 4.4 (81.4 - 72,6
3 -4 272 15 7 0 72.7 £+ 4.7 (77.4 - 68.0
4 -5 250 11 23 0 69.3 + 4.9 ( 74.3 - 64.4
5 - 216 216

TOTAL 365 109 40 216

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 120 12 1 0 90.0 £ 5.5 (95.5 - 84.5
1 -2 107 13 0 0 79.0 + 7.5 (86.85 - 71.6
2 -3 94 11 2 0 69.7 + 8.4 (78.1 - 61.2
3 -4 81 5 2 0 65.3 £+ 8.8 (74.1 - 56.6
4 -5 74 6 9 0 69.7 £+ 9.1 (68,8 - 50.5
5 - 59 59

TOTAL 120 47 14 59
YEAR OF ALIVE AT DIED IIN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 47 8 0 0 83.0 £ 11.0 (93.9 - 72.0
1 2 39 3 0 0 76.6 = 12.4 (88.9 - 64.2
2 -3 36 3 3 0 69.9 + 13.5 (83.4 - 56.5
3 -4 30 4 0 0 60.6 + 14.5 ( 75.2 - 46.1
4 -5 28 2 1 0 65.8 + 14.9 (70.7 - 41.0
5 - 23 23

TOTAL 47 20 4 23
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 169 81 1 0 51.9 £+ 7.7 ( 59.6 - 44.2
1 -2 87 40 2 0 27.8 £ 6.9 (34.7 - 20.8
2 -3 45 9 0 0 22.2 + 6.5 (28.7 - 15.8
3 -4 36 8 0 0 17.3 £+ 5.9 (23.2 - 11.4
4 -5 28 4 3 0 14.7 £+ 56 (20.2 - 9.1
5 - 21 21

TOTAL 169 142 6 21
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 34 31 0 0 8.8+ 9.7 (18.6 - -0.9
1 -2 3 3 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 34 34 0 0
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17-2. BNREVFHZHR A LR G FHE. 5. 2. R

YEAR OF ALIVE AT DJED IN LOST TO WITHDRAWN CUMULATIVE GREENWOQD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rt+2SE  EX STD ERROR
0 -1 299 15 3 0 85.0 £+ 2.5 (¢ B87.5 -~ 82.4
g@%ﬂé;ﬁ 1 -2 281 15 4 (] 89.9 + 3.5 ( 93.4 - 86.3
2 -3 262 12 2 () 85.7 + 4.1 (89.8 - 81.6
o)) 3 -4 248 10 6 0 82.2 + 4.5 (86.7 - 717
4 -5 232 8 21 0 79.3 + 4.8 ( 84.0 - 74.5
5 - 203 203
TOTAL 299 60 36 203
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 100 6 0 (] 94.0 £+ 4.7 (98.7 - 89.3
AR 1 -2 94 8 2 0 85.9 + 7.0 (9829 - 78.9
2 -3 84 4 1 0 81.8 + 7.8 ( 89.6 - 74.0
@% 3 -4 79 8 2 1} 73.4 £ 9.0 (82.4 - 64.5
4-5 69 2 5 (] 71.2 £ 9.2 (80.4 - 62.0
5 - 62 62
TOTAL 100 28 10 62
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 37 4 1 0 89.0 + 10.3 (99.4 - 78.7
HXIE 1 -2 32 10 0 ()} 61.2 + 16.2 ( 77.4 - 45.0
2 -3 22 2 2 0 §5.4 + 16.6 ( 72.0 - 38.7
¥ 3-4 18 1 0 (] 52.3 £ 16.8 ( 69.1 - 35.5
féﬁﬁﬂj% 4 -5 17 3 2 0 42.5 + 17.1 ( 59.6 - 25.4
5 - 12 12
TOTAL 37 20 5 12
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 153 84 3 ) 44.6 + 8.1 (52.6 - 36.5
HaxtIE 1 -2 66 20 2 0 30.8+ 7.6 (38.4 - 233
2 -3 44 8 0 0 25,2 + 7.2 (32.4 - 18.1
BRI 3 - 4 36 5 2 0 21.6 £+ 6.8 ( 28.5 - 14.8
4-5 29 3 4 0 19.2 £+ 6.6 (258 - 12.6
5 - 22 22
TOTAL 153 120 11 22
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 36 34 0 0 5.6 £+ 7.6 (13.2 - -2.1
1 -2 2 1 0 o 2.8+ 5.5 ( 83--2.7
;ng% 2 -3 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 6.0- 0.0
4 -5 0 (] 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 36 36 0 0
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YEAR QF ALIVE AT DRIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 483 36 2 0 92,5 £+ 2.4 (984.9 - 90.1
1 -2 445 25 1 0 87.3 £+ 3.0 (980.4 - 84.3
2 3 418 40 5 0 78.9 £+ 3.7 (827 - 75.2
3 -4 374 28 11 0 72.9 £+ 4.1 (77.0 - 68.9
4 - 5 335 15 28 0 69.5 + 4.2 (73.8 - 65.3
5 - 292 292
TOTAL 483 144 47 292
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 112 13 1 0 88.3 + 6.1 ( 94.4 - 82,
1 -2 98 12 1 0 77.6 £ 7.9 ( 85.4 - 69.
2 -3 85 8 0 0 70.2 £ 8.7 (78.9 - 61.
3 -4 17 8 1 0 62.8 + 9.2 (72,0 - 53.
4 -5 68 6 12 0 66.8 + 9.6 ( 66.3 - 47.
5 - 50 50
TOTAL 112 47 15 50
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 37 8 0 0 78.4 + 13.5 (81.9 - 64.8
1 -2 29 9 0 0 54.1 = 16.4 ( 70.4 - 37.7
2 -3 20 6 0 0 37.9 £ 15.9 (653.8 - 21.9
3 -4 14 3 0 0 23.7 £ 15.0 ( 44.8 - 14.7
4 -5 11 1 0 0 27.0 + 14.6 ( 41.6 - 12. 4
5 - 10 10
TOTAL 37 27 0 10
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 163 70 1 0 66.9 + 7.8 (64.7 - 49.2
1 -2 92 42 1 1] 30.8 £+ 7.3 (38.1 - 23.5
2 -3 43 12 2 0 23.1 + 6.7 (29.8 - 16.4
3 -4 35 6 0 0 19.1 + 6.3 (25.4 - 12.9
4 -5 29 3 6 0 169 £+ 6.0 (23.0 - 10.9
5 - 20 20
TOTAL 163 133 10 20
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 50 36 2 0 26.5 £ 12.6 (39.1 - 13.9
-2 12 8 0 0 8.8+ 84 (17.2 - 0.5
2-3 4 2 0 0 4.4 £+ 6.1 (10.5 - -1.7
3 -4 2 1 0 0 2.2+ 4.4 ¢ 6.6 - -2.2
4 -5 1 1 [ 0 0.0+ 0.0 ¢ 0.0- 0.0
5 0 1]
TOTAL 50 48 2 0
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YEAR OF ALIVE AT DJED IN LOST TO WITHPRAWN CUMULATJVE GREENWOOD! S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 383 14 3 0 896.3 + 1.9 (98.3 - 94.4
1 -2 366 25 3 0 89.7 £ 3.1 (92.8 - 86.6
2 -3 338 21 1 0 84.1 £+ 3.8 (87.9 - 80.4
3 -4 316 22 7 0 78.2 + 4.3 (82,56 - 74.0
4 -5 287 19 29 0 72.8 + 4.6 (77.4 - 68.1
5 - 239 239

TOTAL 383 101 43 239

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 96 5 1 0 94.8 £ 4.6 (99,3 - 90.2
1 -2 80 16 1 0 77.8 £+ 8.5 (86.4 - 69.3
2 -3 13 13 2 0 63.8 £ 9.9 (73.7 - 53.8
3 -4 58 7 0 0 56.1 + 10.3 ( 66.4 - 45.8
4 -5 51 6 1 0 49.4 + 10.4 (659.8 - 39.0
5 - 44 44

TOTAL 96 47 5 44

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE §X STD ERROR
0 -1 32 10 0 0 68.8 £ 16.4 (85 1 - 52.4
1 -2 22 7 0 0 46.8 * 17.6 ( 64.5 - 29.2
2 -3 15 6 0 0 28.1 + 15.9 (44.0 - 12,2
3 -4 9 2 0 0 21.9 + 14.6 (€36.5 - 7.3
4 - 5 7 0 0 0 21.9 £ 14.6 (36.5 - 7.3
5 - 7 7

TOTAL 32 25 0 7

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 89 28 0 0 68.5 + 9.8 (78.4 - 58.7
1 -2 61 22 0 0 43.8 + 10.5 (54.3 - 33.3
2 3 39 9 0 0 33.7 £+ 10.0 ( 43.7 - 23.7
3 -4 30 3 0 o 30.3 + 9.7 (40.1 - 20.6
4 - 5 27 0 2 0 30.3 £+ 9.7 (40.1 - 20.6
5 - 25 25

TOTAL 89 62 2 25

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE §X STD ERROR
0 -1 27 17 0 0 37.0 £ 18.6 (55.6 - 18.5
1 -2 10 6 0 0 14.8 £ 13.7 (28.5 - 1.1
2 -3 4 2 0 0 7.4 £ 10.1 (¢ 17.5 - -2.7
3 -4 2 2 o 0 0.0 0.0 ¢ 0.0- 0.0
4 - 5 0 0 0 0 0.0 £+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 27 27 0 0
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 431 36 4 0 91.6 £ 2.7 (94.3 - 88.9
1 -2 391 24 3 0 86.0 £+ 3.4 (89.3 - 82.6
2-3 364 29 7 0 79.0 £ 4.0 (83.0 - 75.1
3 -4 328 18 8 0 74.7 £ 4.2 (78.9 - 70.4
4 -5 302 14 28 0 71.0 £ 4.5 ( 75.5 - 66.6
5 - 260 260

TOTAL 431 121 50 260

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 74 15 0 0 79.7 £ 9.3 (89.1 - 70.4
1 -2 59 9 0 0 67.6 + 10.9 (78.5 - 56.7
2-3 50 8 0 0 66.8 £ 11.5 ( 68.3 - 45.2
3 -4 42 4 1 0 61.3 £+ 11.6 (62.9 - 39.7
4 -5 37 3 5 0 46.8 = 11.7 (58.5 - 35.1
s - 29 29

TOTAL 74 39 6 29

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 33 1 0 0 78.8 £ 14.2 ( 93.0 - 64.6
1 -2 26 2 0 0 72.7 £ 16,6 (88.2 - 657.2
2-3 24 5 3 0 66.6 £ 17.5 ( 74.1 - 39.0
3 -4 16 2 0 0 49.5 + 18.0 ( 67.5 - 31.5
4 -5 14 2 0 0 42.4 + 18.0 (60.4 - 24.4
5 - 12 12

TOTAL 33 18 3 12
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 154 77 1 0 49.8 £+ 8.1 (57.9 - 41.8
1 -2 76 38 2 0 24.6 £ 7.0 (31.6 - 17.6
2-3 36 7 0 0 19.8 + 6.5 (26.3 - 13.3
3 -4 29 7 0 0 16,0 £+ 5’9 (¢ 20.9 - 9.2
4 -5 22 3 3 0 12.8 £+ 6.6 (18.3- 7.3
5 - 16 16

TOTAL 154 132 6 16
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 34 31 0 0 8.8+ 9.7 (18.6 - -0.9
1 -2 3 3 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 o] 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
3 -4 0 o] 0 0 0.0 0.0 ¢ 0.0- 0.0
4 - 5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 34 34 0 0
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YEAR OF ALIVE AT DIED [N LOST TO WITHDRAWN CUMULATIVE GREENWQOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [N ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 356 19 2 0 94.6 £ 2.4 (97.0 - 82.3
1 -2 335 20 4 0 89.0 £+ 3.3 (92,3 - 85.6
2 -3 311 10 3 0 86.1 £ 3.7 (89.8 - 82.4
3 -4 298 9 8 0 83.56 + 4.0 (87.4 - 79.5
4 - 5 281 11 26 0 80.0 £+ 4.3 (84.3 - 75.7
5 - 244 244

TOTAL 356 69 43 244
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 59 5 0 0 91.5 £+ 7.3 (98.8 - 84.3
1 -2 54 S 2 0 82.9 £+ 9.9 (92.7 - 73.0
2 -3 47 6 1 0 72.2 £ 11.8 (84.0 - 60.4
3 -4 40 5 0 0 63.2 £ 12.8 (76.0 - 50.4
4 -6 35 2 3 0 69.4 £ 13.1 ( 72.5 - 46.3
5 - 30 30

TOTAL 59 23 6 30

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 31 1 1 0 96.7 £ 6.4 (103.2 - 90.3
1 -2 29 9 0 0 66.7 £ 17.2 (83.9 - 49.5
2 -3 20 2 1 0 69.9 £ 18.0 ( 77.8 - 41.8
3 -4 17 3 0 0 49.3 + 18.5 (67.8 - 30.8
4 -5 14 2 2 0 41.7 = 18.5 (60.2 - 23.2
5 - 10 10

TOTAL 31 17 4 10

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 136 84 4 0 37.3 £+ 8.4 (457 - 29.0
1 -2 48 19 2 0 22.2 + 7.3 (29.5 - 14.9
2 -3 27 7 o 0 16.5 + 6.6 (23.0- 9.9
3 -4 20 4 2 0 13.0 ¢+ 6.0 (C19.0- 7.0
4 -5 14 1 0 0 12.1 £+ 5.9 (18.0 - 6.2
5 - 13 13

TOTAL 136 115 8 13
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE §X STD ERROR
0 -1 40 34 0 0 15,0 £ 11.3 (26.3 - 3.7
1 -2 6 1 0 0 12.6 £ 10.5 (23.0 - 2.0
2-3 5 2 0 0 7.9+ 83 (15.8 - -0.8
3 -4 3 1 0 0 5.0 £+ 6.9 (11.9 - -1.9
4 -5 2 0 0 0 5.0 £+ 6.9 (11.9 - -1.9
5 - 2 2

TOTAL 40 3s 0 2

(SRR VRVEV) (SR RVEVEY] (SR VRV [RVEVEVR)
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YEAR OF ALIVE AT DIEDP [N LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP [N ALIVE SURV.R+2SE 6% STD ERROR
0-1 525 41 2 1} 92.2 £+ 2.3 (94.5 - 89.8
1 -2 482 29 2 0 86.6 £+ 3.0 (¢ 89.6 - B3.6
2-3 451 35 7 0 79.8 + 3.5 (83.4 - 76.3
3 -4 409 28 10 0 74.3 £ 3.8 (178.2 - 70.5
4 -5 371 14 36 0 71.4 £ 4.0 (C75.4 - 67.4
5 - 321 321

TOTAL 6525 147 57 321

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 83 11 1 0 86.7 £ 7.5 (94.2 - 79.2
1 -2 71 11 0 0 73.2 + 9.8 (83.0 - 63.5
2 -3 60 13 0 0 57.4 £ 10.9 ( 68.3 - 46.5
3 -4 47 8 1 1] 47.5 + 11.0 ( 58.5 - 36.5
4 -5 3s 6 6 0 39.4 £ 11.0 ( 50.3 - 28.4
5 - 26 26

TOTAL 83 49 8 26

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 32 6 0 0 81.3 £+ 13.8 ( 95.0 - 67.

1 -2 26 8 0 0 56.3 + 17.5 (¢ 73.8 - 38.

2 -3 18 4 0 0 43.8 £ 17.5 (C 61.3 - 26.

3 -4 14 2 1 0 37.3 £ 17.2 ( 54.4 - 20.

4 -5 11 3 0 0 27.1 £ 16.0 (¢ 43.1 - 1).

5 - 8 8

TOTAL 32 23 1 8

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 143 69 1 o 51.6 + 8.4 (60.0 - 43.2
1 -2 73 40 1 0 23.1 + 7.1 (€30.2 - 16.0
2 -3 32 12 0 0 14.5 £ 5.9 (20.4 - 8.5
3 -4 20 4 0 0 11.6 £ 5.4 (C17.0 - 6.1
4 -5 16 2 3 0 10.0 £ 5.1 (¢ 15.1 - 4.9
5 - 11 11

TOTAL 143 127 5 11

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rt2SE 5% STD ERROR
0-1 52 35 2 0 31.4 £ 13.0 ( 44.4 - 18.4
1 -2 15 8 0 0 14.6 £ 10.1 (24.7 - 4.5
2 -3 7 3 0 0 8.4 + 8.0 (16.3 - 0.4
3 -4 4 1 0 0 6.3+ 7.0 (13.3 - -0.7
4 -5 3 1 0 0 4.2 + 5.8 (10.0 - -1.6
5 - 2 2

TOTAL 52 48 2 2
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YEAR OF ALIVE AT DIED N LOST TO WITHDRAWN CUMULATIVE GREENWOOD! S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 412 16 2 0 96.4 £+ 1.8 (98.2 - 94.5
1 -2 395 26 3 0 90.0 £ 3.0 (93.0 - 87.0
2 -3 366 21 2 0 84.8 £+ 3.6 (88.4 -81.3
3 -4 343 26 6 0 78.3 £ 4.1 (82.4 - 174.2
4 -5 311 19 30 0 73.3 + 4.4 (77.7 - 68.8
5 - 262 262

TOTAL 412 107 43 262

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 69 7 1 0 89.8 £+ 7.3 (97.1 - 82.5
1 2 61 9 1 0 76.4 £ 10.3 ( 86.7 - 66.1
2 -3 51 9 1 0 62.8 £+ 11.8 ( 74.6 - 51.0
3 -4 41 5 0 0 §6.1 £ 12.2 (67.3 - 42.9
4 -5 36 6 1 0 45.8 + 12.3 (58.1 - 33.5
5 - 29 29

TOTAL 69 36 4 29

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE SX STD ERROR
0 -1 27 5 0 0 81.5 £ 15.0 (96.4 - 66.5
1 -2 22 8 0 0 5§1.9 £ 19.2 ( 71.1 - 32.6
2 -3 14 7 0 0 25.9 + 16.9 ( 42.8 - 9.1
3 -4 7 2 0 0 18.6 = 16,0 (33.5 - 3.6
4 -5 5 0 0 0 18.5 + 16,0 (33.5 - 3.6
5 - ) 5

TOTAL 27 22 0 5

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 77 29 0 0 62,3 £ 11.0 (¢ 73.4 - 51.3
1 -2 48 22 0 0 33.8 £ 10.8 ( 44.5 - 23.0
2 -3 26 9 0 0 22.1 ¢+ 9.6 (31.5 - 12,6
3 -4 17 4 0 0 16.9 + 8.5 (254 - 8.3
4 -5 13 0 1 0 16.9 £+ 8.5 (25.4 - 8.3
5 12 12

TOTAL 77 64 1 12

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5X STD ERROR
0-1 27 17 o] 0 37.0 £ 18.6 ( 55.6 - 18.5
1 -2 10 6 0 0 14.8 £ 13.7 (28.5 - 1.1
2 -3 4 2 0 0 7.4 £ 10.1 (C17.5 - -2.7
3 -4 2 2 0 0 0.0 0.0 ¢ 0.0- 0.0
4 - 65 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 27 27 0 0

(TR EVREVES (SRR R [VEVEVEVRY A
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18-1. HAEHERGEB. )

YEAR OF ALIVE AT DIED IN OST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE §X STD ERROR

0-1 1,187 180 9 (] 84.9 £+ 2.1 ( 87.0 - 82.8
1 -2 1,008 106 ] 0 75.9 + 2.5 ( 78.4 - 73.5
H, 2-3 893 73 17 [ 69.7 £ 2.7 (72.3 - 67.0
3 -4 803 52 19 0 65.1 = 2.8 (67.9 - 62.3
4-5 732 37 71 0 61.6 + 2.9 ( 64.5 - 58.8
5 - 624 624
TOTAL 1,197 448 125 624
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 79 35 ) (] 5.7 + 11.2 ( 66.9 - 44.5
1 -2 44 18 1 0 31.4 + 10.5 ( 41.8 - 20.9
H., 2-3 24 8 o 0 20,9 + 9.2 (€ 30.1 - 11.7
3-4 16 3 0 (] 17.0 + 8.5 (255 - 85
4-5 13 0 2 (] 17.0 + 8.5 (255 - B.5
5 - 11 11
TOTAL 79 65 3 11
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 51 37 1 0 26.7 + 12.5 ( 39.2 - 14.3
1 -2 13 7 1 0 11.8 + 9.3 (21.1 - 2.5
H. 2 -3 5 0 0 0 11.8 + 9.3 (21.1 - 2.5
3-4 5 2 0 0 7.1+ 7.6 C14.7 - -0.5
4-5 3 1 0 0 4.7+ 6.4 C11.1 - -1.6
5 - 2 2
TOTAL 51 a1 2 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 83 72 2 0 1222 £ 7.2 (19.4 - 5.0
1 -2 9 5 2 0 4.6+ 50 ¢ 9.6 - -0.4
Hs 2 -3 2 ] 0 0 4.6 + 50 ¢ 9.6 - -0.4
3 -4 2 0 0 0 4.6 £ 50 ¢ 9.6 - -0.4
4-5 2 1 0 (] 2.3+ 4.1 ¢ 6.4 - -1.8
s - 1 1
TOTAL 83 78 4 1
18_ 1 SURVIVAL RATE HO:n=1197 o-——-o0
& P=0. 01 «P=0.05 H b}l}
H7 - &5 x
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YEAR OF ALIVE AT
OBSERVAT BEGINNING

18-2. HRlEFR(ER. B

DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR

0 -1 1,365 163 7 0 88.0 £ 1.8 (89.8 - 86.3
1 -2 1,195 140 12 0 77.7 £ 2.3 (79.9 - 75.4
2-3 1,043 107 11 0 69.7 £+ 2.5 (72.2 - 67.1
3 -4 825 81 21 0 63.5 + 2.6 (66.1 - 60.9
4 -5 823 51 78 0 69.4 £+ 2.7 (62.1 - 56.7
5 - 694 694

TOTAL 1,365 542 129 694

YEAR OF ALIVE AT
OBSERVAT BEGINNING

DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 70
1 -2 46
2 -3 22
3 -4 11
4 -5 7
5 - (]
TOTAL 70

YEAR OF ALIVE AT
OBSERVAT BEGINNING

23 1 0 66.9 £ 11.3 (78.2 - 55.6

24 0 0 32.0 £ 11.2 ( 43.2 - 20.8

11 0 0 16.0 £+ 8.8 (24.8 - 7.2

4 ] 0 10.2 + 7.3 (17.5 - 2.8

0 1 0 10.2 £ 7.3 (17.5 - 2.9
6

62 2 6

DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE §X STD ERROR

0 -1 38 21 0 0 44.7 = 16.1 (60.9 - 28.6
1 -2 17 11 0 0 15.8 £ 11.8 ( 27.6 - 4.0
2 -3 6 2 0 0 10.5 £ 10.0 (¢ 20.5 - 0.6
3 -4 4 1 0 0 7.9+ 87 (16.6 - -0.9
4 -5 3 0 0 0 7.9+ 87 (16.6 - -0.9
5 - 3 3

TOTAL 38 35 0 3

YEAR OF ALIVE AT
OBSERVAT BEGINNING

DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

c -1 45 338 2 0 11.4 £+ 9.6 (20.9 - 1.8
1 -2 4 2 0 0 5.7+ 7.4 C13.1 - ~-1.7
2 -3 2 1 0 0 2.8+ 55 ( 83--2.6
3 -4 1 0 0 0 2.8+ 55 ( 83--2.6
4 - 5 1 o] 0 0 2.8t 685 ( 83--2.6
5 - 1 1
TOTAL 45 42 2 1
SURVIVAL RATE HO:n=1365 o———o
% P=0.01 »P=0.05 Hl:n= 70 ec-ve-- 4)h}
H2:n= 3B o
% H3:in= 45 e ———e

[V RV RV RV [V RV VRV] (ORI VRV

[PEVEVEVEV)



19-1.

PRlEFR(ER. RE)

DIED IN LOST TO WITHDRAWN

YEAR OF ALIVE AT CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R:t2SE 5% STD ERROR
0 -1 1,216 203 11 0 83.2 £ 2.1 ( 85.4 - 81.1
1 -2 1,002 105 13 0 74.5 £+ 2.5 (77.0 - 71.9
P. 2 -3 884 72 12 0 68.3 £ 2.7 (71.0 - 65.7
3 -4 800 53 18 0 63.8 + 2.8 ( 66.6 - 61.0
4 -5 729 as 72 0 60.5 + 2.9 (¢ 63.4 - 57.7
5 - 622 622
TOTAL 1.216 468 126 622
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+£2SE  §X STD ERROR
0 -1 71 31 1 0 56.0 + 11.8 (¢ 67.9 - 44.2
1 -2 as 13 0 0 37.4 + 11.6 ( 48.9 - 25.8
P 2 -3 26 3 3 0 32,8 + 11.3 ( 44.1 - 21.5
3 -4 20 3 1 0 27.7 £ 11.0 (¢ 38.7 - 16.8
4 -5 16 3 1 (] 22.4 + 10.4 ( 32.8 - 11.9
5 - 12 12
TOTAL 71 53 6 12
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rt2SE 5% STD ERROR
0 -1 48 29 0 0 39.6 + 14.1 ( 83.7 - 25.5
1 -2 19 10 0 0 18.8 £ 11.3 (30.0 - 7.5
P. 2 -3 9 4 1 0 8.9+ 8.8 (18.7 - 1.2
3 -4 4 0 o 0 9.9+ 88 (18,7 - 1.2
4 -5 4 1 0 0 7.4 + 7.9 (€ 15.3 - -0.4
5 - 3 3
TOTAL 48 44 1 3
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rt2SE  5X STD ERROR
0 -1 66 56 (i} 0 15.2 + 8.8 (24.0 - 6.3
1 -2 10 8 0 0 3.0+ 4.2 ¢ 7.3 - -1.2
P, 2 -3 2 2 (] 0 6.0+ 0.0 C 0.0- 0.0
3 -4 0 0 ] (] 6.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 (i} (] 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0]
TOTAL 66 66 0 ]
_ SURVIVAL RATE P0:n=1216 oo
19-1 e A : Y
P 7l - %585
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19-2. PRIEFR(EMN. RE

YEAR OF ALIVE AT DIED IN LOST TQ WITHDRAWN CUMULATIVE GREENWOOD' 5
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
-1 1,411 195 7 0 86.1 £ 1.8 (88.0 - 84.3
1 -2 1,208 158 10 0 74.8 + 2.3 (¢77.2 - 72.5
2-3 1,041 114 11 ] 66.6 + 2.5 (69.1 - 64.1
3 -4 916 83 21 0 60.5 + 2.6 (63.1 - 57.9
4 -5 812 48 79 0 6.7 £ 2.7 (59.4 - 54.1
5 - 685 685

TOTAL 1,411 598 128 685

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE §X% STD ERROR
0 -1 46 25 3 0 43.8 + 14.9 (58.7 - 28.9
1 -2 18 11 0 0 17.0 =+ 11.6 (¢ 28.7 - 5.4
2 -3 7 3 0 0 9.7+ 9.2 (18.9 - 0.5
3 -4 4 0 0 0 9.7+ 9.2 (18.9 - 0.5
4 -5 4 0 0 0 9.7+ 8.2 (18.9 - 0.5
5 - 4 4

TOTAL 46 39 3 4

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 14 6 0 0 67.1 £+ 26.5 ( 83.6 - 30.7
1 -2 8 2 1 0 41.9 + 26.8 (68.7 - 15.1
2 -3 5 2 0 0 25.1 £ 24.4 (49.5 - 0.7
3 -4 3 2 0 0 8.4 + 15.9 (24,3 - -7.5
4 -5 1 0 0 0 8.4 + 16,9 (24,3 - -7.5
5 - 1 1

TOTAL 14 12 1 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 17 14 0 0 17.6 £ 18.5 ( 36.1 - -0.8
1 -2 3 2 0 0 5.9 + 11.4 (17.3 - -5.5
2-3 1 0 0 o] 6.9 £ 11.4 (17.3 - -5.5
3 -4 1 0 0 0 5.9 + 11.4 (17.3 - -5.8
4 -5 1 1 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 17 17 0 0

SURVIVAL RATE

g P=0.01 «P=0.05
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20. MBI4773 (RRAE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOQD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR

(SRR VRVR)

0-1 1,315 265 12 0 79.8 + 2.2 (82.0 - 77.6
B, 1 -2 1.038 124 12 0 70.2 + 2.6 (72.7 - 61.6
2 -3 302 79 15 0 64.0 £ 2.7 (¢ 66.6 - 61.3
M(-) 3-4 808 54 18 0 69.7 £ 2.7 ( 62.4 - 56.9
4-5 736 38 70 0 66.4 + 2.8 (59.2 - 53.6
5 - 628 628
TOTAL 1,315 560 127 628
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 33 21 0 0 36.4 £ 16.7 (¢ 53.1 - 19.6
&, 1 -2 12 7 1 0 14.2 + 12.3 (26.6 - 1.9
2 -3 4 1 0 0 10.7 £ 11.1 ¢ 21.8 - -0.5
M(+) 3-4 3 0 1 0 10,7 + 11.1 ( 21.8 - -0.5
4-5 2 1 0 0 5.3+ 9.4 ¢ 14.7 - -4.0
5 - 1 1
TOTAL a3 30 2 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 1,426 209 10 0 85.3 + 1.9 (87.2 - 83.4
BB, 1 -2 1,207 154 9 0 74.4 + 2.3 (76.7 - 72.0
2 -3 1,044 116 10 0 66.1 £ 2.5 ( 68.6 - 63.5
M(—) 3-4 918 84 20 o 60.0 + 2.6 ¢ 62.6 - 57.3
4-5 814 49 78 o §6.2 + 2.7 ( 58.8 - 53.5
5 - 687 687
TOTAL 1,426 612 127 687
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 32 14 0 0 56.3 £ 17.5 ¢ 73.8 - 38.7
BiE, 1 -2 18 12 0 0 18.8 + 13.8 (325 - 5.0
2 -3 6 3 0 0 9.4 £ 10.3 (¢ 19.7 - -0.9
M(+) 3-4 a 1 0 0 6.3+ 86 (14.8--2.3
4-5 2 0 0 0 6.3+ 8.6 ( 14.8 - -2.3
5 - 2 2
TOTAL 32 30 0 2
SURVIVAL RATE &M, M (—):n=1315 0o
20 nP=0.01 =P=0.05 #&M, M (+):inm 334...... by
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YEAR OF ALIVE AT PpPIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0-1 391 47 4 0 87.9 £+ 3.3 (91.2 - 84.6
1 -2 340 32 B 0 79.6 + 4.1 (83.7 - 75.56
2-3 303 28 [ ] 72,2 4.6 (76.7 - 67.6
3 -4 270 16 7 0 67.8 + 4.8 (172.6 - 63.0
4 -5 247 9 24 0 65.2 + 4.9 (70.1 - 60.3
5 - 214 214

TOTAL 331 132 45 214

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 428 67 4 0 84.3 £+ 3.5 (87.8 - 80.7
1 -2 357 28 4 0 77.6 £ 4.0 (81.7 - 73.6
2-3 325 21 5 0 72.6 £+ 4.3 (76.9 - 68.2
3 4 299 18 10 0 68.1 £ 4.6 (72.7 - 63.6
4 5 271 15 26 0 64.2 + 4.7 (68.9 - 59.4
5 - 230 230

TOTAL 428 148 49 230

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 307 59 3 0 80.7 £+ 4.5 (852 - 76.2
1 -2 245 42 2 0 66.8 + 5.4 (72.2 - 61.4
2 -3 201 24 3 0 68.8 £+ 5.7 (64.4 - 53.1
3 -4 174 14 2 0 54.0 £+ 5.7 (59.8 - 48.3
4 -5 158 10 16 0 560.4 £ 5.8 (56.2 - 44.6
5 - 132 132

TOTAL 307 149 26 132

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 160 67 0 0 58.1 £+ 7.8 (65.9 - 50.3
1 -2 93 21 1 0 44.9 £ 7.9 (52.8 - 37.1
2 -3 71 5 2 0 41.7 £ 7.8 ( 49.5 - 33.89
3 -4 64 7 1 0 37.1 £+ 7.7 (44.8 - 29.4
4 -5 56 3 4 0 35.1 £ 7.6 ( 42.7 - 27.4
5 - 49 49

TOTAL 160 103 8 49
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 57 38 1 0 32.7 + 12.5 (45.2 - 20.3
1 -2 18 7 0 o] 20.0 £ 10.7 (30.7 - 9.3
2 -3 11 1 0 0 18.2 + 10.3 (28.5- 7.8
3 -4 10 0 0 0 18.2 £ 10.3 ( 28.5 7.8
4 - 5 10 2 0 0 14.6 + 8.5 (24.0 - 5.1
5 - 8 8

TOTAL 57 48 1 8
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOQD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
Q-1 584 48 a 0 91.8 £+ 2.3 (94.0 - 89.5
1 -2 533 33 5 0 86.1 £+ 2.9 (88.9 - 83,2
2 -3 495 41 4 0 78.9 £ 3.4 (82,3 - 75.5
3 -4 450 32 13 0 73.2 £ 3.7 (76.9 - 69.5
4 -5 405 18 42 0 69.8 £ 3.9 (73.6 - 65.9
5 - 345 345

TOTAL 584 172 67 345

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
-1 434 57 2 0 86.8 + 3.2 (90.1 - 83.6
1 -2 37s 44 2 0 76.6 £+ 4.1 (80.7 - 72.5
2 -3 329 39 1 0 67.5 + 4.5 (72.0 - 63.0
3 -4 289 24 4 0 61.9 + 4.7 (66.6 - 57.2
4 - 5 261 22 26 0 56.4 £+ 4.8 (61.2 - 51.6
5 - 213 213

TOTAL 434 186 35 213

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 306 64 3 0 79.0 £ 4.7 (83.7 - 74.3
1 -2 239 59 1 0 69.4 £+ 5.6 (65 1 - 53.8
2-3 179 24 4 0 561.4 £+ 5.8 (57.1 - 45.6
3 -4 151 18 3 0 45.2 + 5.8 (51.0 - 39.4
4 -5 130 11 12 0 41.2 + 6.7 (46.8 - 35.5
s - 107 107

TOTAL 306 176 23 107

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 83 27 1 0 67.3 £ 10.3 ( 77.6 - 56.9
1 -2 55 15 1 0 48.8 + 11.1 (59.8 - 37.7
2-3 33 9 1 0 37.4 £ 10.8 ( 48.1 - 26.6
3 -4 29 6 0 0 29.6 £ 10.2 (39.9 - 19.4
4 -5 23 1 2 0 28.3 £ 10.1 (38.4 - 18.2
s - 20 20

TOTAL 83 58 5 20

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5X STD ERROR
0 -1 46 27 0 0 41.3 + 14.5 (55.8 - 26.8
1 -2 19 11 0 0 17.4 £ 11.2 (28.6 - 6.2
2 -3 8 5 0 0 6.5+ 7.3 (13.8 - -0.8
3 -4 3 0 0 0 6.5+ 7.3 (13.8 - -0.8
4 -5 3 0 0 0 6.5+ 7.3 (13.8 - -0.8
5 - 3 3

TOTAL 46 43 9 3
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWQOOD’ §
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 748 108 8 0 85.3 + 2.6 (87.9 - 82.8
1 -2 631 52 5 0 78.3 £+ 3.0 (81.3 - 75,3
2 3 5§74 42 10 0 72.5 £+ 3.3 (75.8 - 868.2
3 -4 522 28 14 0 68.4 £+ 3.4 (71.9 - 65.0
4 - 5 473 25 48 0 64.7 £+ 3.6 (68.2 - 61.1
5 - 405 405

TOTAL 748 257 86 405

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 285 62 1 0 78.2 + 4.9 (83.1 - 73.3
1 -2 222 33 S 4] 66.4 + 5.6 (72.1 - 60.8
2 -3 184 13 2 o] 61.7 £+ 5.8 (67.5 - 55.9
3 -4 169 13 4 0 56.9 + 5.9 (62.8 - 51.0
4 -5 152 9 13 0 53.4 £+ 6.0 (59.4 - 47.4
5 - 130 130

TOTAL 285 130 25 130

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 168 46 0 0 72.6 + 6.8 (79.5 - 65.7
1 -2 122 22 2 0 69.4 + 7.6 (67.0 - 51.8
2 -3 98 17 3 o 48.9 + 7.8 (56.7 - 41.2
3 -4 78 8 2 0 43.9 + 7.7 (51.6 - 36.1
4 -5 68 1 5 0 43.2 + 7.7 (50.9 - 35.4
5 - 62 62

TOTAL 168 94 12 62

YEAR OF ALIVE AT DIED IN LOST TO WIiTHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R 2SE 5% STD ERROR
0 -1 58 24 0 o] 5§8.6 £ 12.9 ( 71.6 - 45.7
1 -2 34 12 1 0 37.6 £ 12.8 (50.4 - 24.8
2 -3 21 1 0 0 35.8 + 12.7 ( 48.5 - 23.2
3 -4 20 2 0 0 32.2 + 12.4 ( 44.6 - 19.9
4 -5 i8 2 0 0 28.7 £ 12.0 ( 40.7 - 16.7
5 - 16 16

TOTAL 58 41 1 16
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 20 11 0 0 45.0 + 22.2 (67.2 - 22.8
1 -2 9 4 0 0 25.0 + 19.4 (44.4 - 5.6
2 -3 5 2 0 0 165.0 = 16.0 (31.0 - -1.0
3 -4 3 0 0 0 15.0 + 16,0 (¢ 31.0 - -1.0
4 -5 3 1 0 0 10.0 + 13.4 (23.4 - -3.4
5 - 2 2

TOTAL 20 18 0 2
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22-2. nplEFR(ERS. RS

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV., Rt 2SE 6X STD ERROR
0 -1 790 85 7 0 87.9 £+ 2.3 (90.2 - 85.6
1 -2 688 48 4 0 8l1.6 + 2.8 (84.4 - 78.9
2 -3 6356 42 S 0 76.2 + 3.0 (79.3 - 73.2
3 -4 6584 32 12 0 72.0 £+ 3.2 (75.2 - 68.8
4 -5 540 23 48 0 68.8 £+ 3.3 (72,1 - 65.4
5 - 469 469

TOTAL 790 241 80 469

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 313 48 1 0 84.6 £ 4.1 (88.7 - 80.6
1 -2 264 37 2 0 72.7 £ 5.0 (77.8 - 67.7
2 -3 225 33 0 0 62.1 £+ 6.5 (67.6 - 56.6
3 -4 182 26 3 0 63.6 + 5.7 (59.3 - 47.9
4 -5 163 14 15 0 48.8 £ 5.7 (54.5 - 43.1
s - 134 134

TOTAL 313 158 21 134
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 219 47 1 0 78.5 £+ 5.6 (84.0 - 72.89
1 -2 171 44 1 0 58.2 £+ 6.7 (64.9 - 51.5
2 -3 126 24 1 0 47.1 £+ 6.8 (653.9 - 40.3
3 -4 101 16 3 0 33.5 + 6.7 (46.2 - 32.89
4 -5 82 10 12 0 34.3 £+ 6.5 (40.8 - 27.8
5 - 60 60

TOTAL 219 141 18 60
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2S5E 5% STD ERROR
0 -1 61 11 0 0 82.0 + 9.8 (91.8 - 72.1
1 -2 50 23 1 0 43.9 + 12.8 (56.6 - 31.1
2 -3 26 8 0 0 30.4 £ 11.9 (42.3 - 18.5
3 -4 18 9 0 0 15,2 £+ 9.3 (24.5 - 5.9
4 -5 9 1 0 0 13.5 + 8.9 (22.4 - 4.6
5 - 8 8

TOTAL 61 52 1 8
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 22 14 0 0 36.4 + 20.5 (56.9 - 15.8
1 2 8 5 0 0 13.6 £ 14.6 (28.3 - -1.0
2 -3 3 3 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 o] 0 0.0 0.0 ¢ 0.0 - 0.0
4 -5 0 0 0 0 6.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 22 22 ] 0
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23-1. REERNEFRGEH. BRE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Re} 2SE 6% STD ERROR
0 -1 33 3 o 0 90.9 + 10.0 (100.9 - 80.9
1 -2 30 1 0 0 87.9 £ 11.4 (99.2 - 76.5
2 -3 29 0 1 o} 87.9 + 11.4 (99.2 - 76.5
3 -4 28 [ 1 0 87.9 + 11.4 (89.2 - 76.56
4 -5 27 0 1 0 87.9 £ 11.4 (99.2 - 76.5
5 - 26 26

TOTAL 33 4 3 26

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R} 2SE 5% STD ERROR
0 -1 38 1 0 0 97.4 £ 5.2 (102.6 - 82,2
1 -2 37 3 o} 0 89.5 + 10.0 ( 99.4 - 79.5
2-3 34 2 1 0 84.1 £ 11.9 (86.0 ~- 72.2
3 -4 31 1 1 0 81.4 £ 12.7 (84.1 - 68.7
4 -5 29 2 3 0 75.5 + 14.3 (89.7 - 61.2
5 - 24 24

TOTAL 38 9 S 24

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Ra} 2SE §X STD ERROR
0 -1 94 4 1 0 85.7 £+ 4.2 (99.9 - 81.5
1 -2 89 3 0 0 92.56 + 5.5 (98.0 - 87.0
2 -3 86 11 1] 0 80.7 £+ 8.2 (88.9 - 72.5
3 -4 75 6 3 0 74.1 £ 9.1 (83.2 - 65.0
4 -6 66 2 5 0 71.7 £ 8.4 (81.2 - 62.3
5 - 59 59

TOTAL 94 26 k] 59

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Ra) 2SE 5% STD ERROR
0 -1 374 50 6 0 86.5 £+ 3.5 (90.1 - 83.0
1 -2 318 33 2 0 77.5 + 4.3 (81.9 - 73.2
2 -3 283 23 5 0 71.2 + 4.7 (75.9 - 66.4
3 -4 255 17 9 0 66.3 £+ 5.0 (71.3 - 61.4
4 -5 229 14 22 0 62.1 £+ §&5.1 (67.2 - 56.9
5 - 193 193

TOTAL 374 137 44 193

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R-} 2SE 5X STD ERROR
0 -1 589 134 4 0 77.2 £+ 3.5 (80.6 - 73.7
1 -2 451 68 9 0 65.4 £+ 3.9 (69.4 - 61.5
2 -3 374 29 6 0 60.3 + 4.1 (64.4 - 56.2
3 -4 339 23 5 0 66.2 £ 4.1 (60.3 - 52.1
4 - 5 311 17 32 0 62.9 £+ 4.2 (57.1 - 48.8
5 - 262 262

TOTAL 589 271 56 262

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R} 2SE 5% STD ERROR
0 -1 118 44 0 0 62.7 + 8.9 (71.6 - 53.8
1 -2 74 18 0 0 47.5 £+ 8.2 (56.7 - 38.3
2 -3 56 9 2 0 39.7 £ 9.0 ( 48.7 - 30.7
3 -4 45 4 0 0 36.2 + 8.9 (451 - 27.3
4 -5 41 3 2 0 33.5 £+ 8.8 (42.2 - 24.7
5 - 36 36

TOTAL 118 78 4 36
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Ra) 2S5E 5X STD ERROR
0 -1 49 1 0 0 88.0 + 4.0 (102.0 - 83.9
1 -2 48 5 1 0 87.6 £+ 9.4 (97.1 - 78.2
2 -3 42 0 1 o 87.6 £ 9.4 (87.1 - 78.2
3 -4 41 1 0 0 85.5 + 10.t ( 95.6 - 75.4
4 -5 40 2 2 0 81.1 £ 11.4 (982.5 - 69.8
5 - 36 36

TOTAL 43 9 4 36

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R.) 2SE 56X STD ERROR
0 -1 72 1 0 0 98.6 £ 2.8 (101.4 - 95.9
1 -2 71 0 1 0 98.6 + 2.8 (101.4 - 95.8
2 -3 70 4 0 0 93.0 + 6.1 (99.0 - 86.9
3 -4 66 0 2 0 93.0 £ 6.1 (89.0 - 86.9
4 -6 64 3 10 0 88.2 + 7.8 (86.1 - 80.4
5 - 51 51

TOTAL 72 8 13 51

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [IN ALIVE SURV. R} 2SE 5% STD ERROR
0 -1 252 12 2 0 95.2 £+ 2.7 (97.9 - 92.5
1 -2 238 4 2 0 93.6 + 3.1 (96.7 - 90.5
2 -3 232 14 1 0 88.0 £+ 4.1 (S82.1 - 83.8
3 -4 217 13 5 0 82.6 + 4.8 (87.4 - 77.8
4 -5 199 9 12 0 78.8 + 6.2 (84.0 - 73.5
5 - i78 178

TOTAL 252 52 22 178

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Ra) 2SE 5% STD ERROR
0 -1 336 41 0 0] 87.8 £ 3.6 (91.4 - 84.2
1 -2 295 32 2 0 78.2 £+ 4.5 (82,7 - 73.7
2 -3 261 22 3 0 71.6 £ 4.9 (76.5 - 66.7
3 -4 236 23 7 0 64.5 £+ 5.3 (69.8 - 538.3
4 -5 206 13 24 0 60.2 + 5.4 (65.6 - 54.8
5 - 169 169

TOTAL 336 131 36 169
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R} 2SE 5X STD ERROR
0 -1 542 90 3 0 83.3 + 3.2 (86.6 - 80.1
1 -2 449 86 3 0 67.3 £+ 4.0 (71.4 - 63.3
2 -3 360 58 4 0 66.4 £+ 4.3 (60.7 - 52.1
3 -4 298 38 4 0 49.2 £+ 4.3 (53.5 - 44.8
4 -5 256 22 27 0 44.7 £ 4.3 ( 49.1 - 40.4
5 - 207 207

TOTAL 642 294 41 207

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R-) 2SE 5% STD ERROR
0 -1 108 38 1 0 64.7 £+ 9.2 (73.9 - 55.4
1 -2 69 18 [ 0 47.8 £+ 9.7 (57.4 - 38.1
2 -3 51 14 1 0 34.5 £+ 9.2 (43.8 - 25.3
3 -4 36 5 1 0 29.7 + 8.9 (38.6 - 20.8
4 -5 30 0 3 0 29.7 £ 8.9 (38.6 - 20.8
5 - 27 27

TOTAL 108 75 6 27
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
BB 0-1 13 0 0 0 100.0 £ 0.0 (100.0 -100.0
- 1 -2 13 1 0 0 92.3 £ 14.8 (107.1 - 77.5
HBY 7 2 -3 12 0 1 0 92.3 t 14.8 <107.1 - 11.5
. 3-4 11 0 0 0 92.3 £ 14.8 (107.1 - 77.5
IR 4-5 11 0 3 0 92.3 + 14.8 (107.1 - 77.5
5 - 8 8
TOTAL 13 1 4 8
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 1,375 303 12 0 77.9 + 2.2 (80.1- 75.6
) 1 -2 1,060 135 13 0 67.9 + 2.5 ( 70.4 - 65.4
NEBFHF i 2-3 912 81 16 0 61.8 £ 2.6 ( 64.4 - 59.2
3-4 815 57 19 0 57.4 £ 2.7 (60.1 - 54.7
4-5 739 39 70 0 54.3 + 2.7 (67.0 - 51.5
5 - 630 630
TOTAL 1,375 615 130 630
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
F Dl 0 -1 17 16 0 0 5.9 £+ 11.4 (17.3 - -5.5
1 -2 1 1 0 0 0.0 0.0 ¢ 0.0- 0.0
Us -2 2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
. s 3-4 0 0 0 0 0.0+ 00 ¢ 0.0- 0.0
BinE) 4-5 0 0 0 0 0.0+ 0.6 ¢ 0.0~- 0.0
5 - 0 0
TOTAL 17 17 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 5 5 0 0 0.0+ 0.0 ¢ 0.0- 0.0
s 1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
e L 2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3-4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 5 5 0 0
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24-2. EI-BAMENNEFR(EN. RE)

YEAR OF ALIVE AT DIED [N LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
R 0-1 15 0 0 0 100.0 £ 0.0 (€100.0 -100.0
1 -2 15 1 3 o 92.6 + 14.3 (106.8 - 78.3
Ay Ry 2-3 11 0 1 0 92.6 + 14.3 (106.8 - 78.3
3-4 10 0 1 0 92.6 + 14.3 (106.8 - 78.3
b — 4-5 9 0 1 0 92.6 + 14.3 (106.8 - 78.3
5 - 8 8
TOTAL 15 1 6 8
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 1,472 226 9 o B4.6 + 1.9 ( B6.5 - 82.7
e 1 -2 1,237 170 9 0 72.9 £ 2.3 (75.3 - 70.6
NELFE R 2 -3 1,058 120 10 0 64.6 £ 2.5 ( 67.1 - 62.1
3 -4 928 86 20 0 58.6 + 2.6 (¢ 61.2 - 56.0
4 -5 822 51 77 0 54.8 + 2.6 ( 57.4 - 52.1
5 - 694 694
TOTAL 1,472 653 125 694
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
ZoM 0-1 27 17 1 0 35.8 + 18.6 ¢ 54.5 - 17.2
1 -2 9 5 0 0 15.9 + 14.5 (¢ 30.4 - 1.5
UL, 2 -3 4 1 0 0 11.9 + 12.9 ¢ 24.8 - -0.9
) 3 -4 3 0 0 0 11.9 + 12.9 ¢ 24.8 - -0.9
3 s 4-5 3 0 1 0 11.9 + 12.9 ( 24.8 - -0.9
B ) : " ; 9 *
TOTAL 27 23 2 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 4 3 0 o 25.0 + 43.3 ( 68.3 —-18.3
; 5 1 -2 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
e L 2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3-4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL 4 4 0 0
SURVIVAL RATE HURPFEIR7 P I— in= 1S50—— o
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0-1 355 30 3 0 91.5 + 3.0 (94.5 - 88.5
1 -2 322 27 4 0 83.8 + 3.9 (87.7 - 79.9
2 -3 291 21 5 0 77.7 £ 4.5 (82,1 - 73.2
3 -4 265 15 7 0 73.2 + 4.8 (78.0 - 68.5
4 -5 243 8 24 0 70.7 £+ 4.9 ( 75.6 - 65.8
5 = 211 211

TOTAL 355 101 43 211

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE. GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 534 36 3 0 93.2 + 2.2 (85.4 - 91.1
1 -2 495 28 4 0 87.9 + 2.8 (90.8 - 85.1
2 -3 463 33 4 0 81.6 + 3.4 (85.0 - 78.3
3 -4 426 29 12 0 76.0 £+ 3.7 (C79.7 - 72.3
4 -5 385 16 38 0 72.7 £+ 3.9 ( 76.6 - 68.8
5 - 331 331

TOTAL 534 142 61 331

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 246 15 5 0 93.8 + 3.1 (96.9 - 90.8
1 -2 226 13 3 0 88.4 + 4.1 (92.5 - 84.3
2 -3 210 12 3 0 83.3 + 4.8 (88.1 - 78,5
3 -4 195 13 2 0 77.7 £+ 5.4 (83.1 - 723
4 5 180 4 29 0 75.9 £+ 5.6 (81.4 70.3
5 - 147 147

TOTAL 246 57 42 147

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING |INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 296 16 2 0 94.6 + 2.6 (97.2 - 81.9
1 -2 278 16 3 0 89.1 + 3.6 (92,7 - 85.5
2 -3 259 14 5 0 84.2 £ 4.3 (88.5 - 80.0
3 -4 240 14 7 0 79.3 £ 4.8 (84.0 - 74.5
4 - 5 218 11 36 0 74.9 + 5.2 (80.1 - 68.7
5 - 172 172

TOTAL 296 71 53 172
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26-1. REERIEFE(H .. Po Mo No HE0S)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
Q 1 36 6 1 0 85.9 £ 11.7 (97.6 - 74.2
1 2 30 1 0 0 83.1 £+ 12.6 (95.7 - 70.4
2 -3 29 0 0 0 83.1 £ 12.6 (985.7 - 70.4
3 -4 29 0 1 ] 83.1 = 12.6 (95.7 - 70.4
4 -5 28 0 2 0 83.1 + 12.6 (€ 95.7 - 70: 4
5 - 26 26

TOTAL 36 6 4 28

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 65X STD ERROR
0 -1 28 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 28 2 0 0 82.9 + 9.7 (02.6 - 83.1
2-3 26 1 3 0 89.1 £ 11.9 (101.0 - 77. 1.
3 -4 22 1 1 (] 84.9 + 14.0 (98.9 - 71.0
4 -5 20 2 1 0 76.2 £ 17.1 (983.3 - 58.1
5 - 17 17

TOTAL 28 6 5 17

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 38 2 0 0 94.7 £ 7.2 (102.0 - 87.5
1 -2 36 1 0 0 92.1 £+ 8.7 (100.9 - 83.4
2 -3 35 2 0 0 86.8 + 11.0 (97.8 - 75.89
3 -4 33 2 1 0 8l1.5-+ 12.6 ( 94.1 - 68.9
4 - 5 30 0 5 [o] 81.5 + 12.6 ( 94.1 - 68.9
5 - 25 25

TOTAL 38 7 6 25
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWQOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 66 3 0 0 85.5 £ 5.1 (100.6 - 90.3
1 -2 63 6 1 0 86.3 + 8.5 (94.8 - 77.8
2 -3 56 3 1 0 8l1.6 £+ 9.6 (981.2 - 72.0
3 -4 52 3 4 0 76.7 £ 10.6 ( 87.3 - 66.2
4 - 5 45 0 S 0 76.7 £ 10.6 ( 87.3 - 66.2
5 - 40 40

TOTAL 66 15 11 40

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 135 12 2 0 91.0 £+ 4.9 (96.0 - 86.1
1 -2 121 10 2 0 83.5 £+ 6.4 (88,9 - 77.0
2 -3 109 11 0 0 76.0 + 7.5 (82.6 - 67.5
3 -4 98 7 0 o] 69.7 £ 8.0 (C77.7 - 61.7
4 -5 91 5 8 0 65.7 £+ 8.3 (74.0 - 57.4
5 - 78 78

TOTAL 135 45 12 78

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R* 2SE 5% STD ERROR
0 -1 30 4 0 0 86.7 £ 12,4 (99.1 - 74.3
1 2 26 5 1 0 69.7 £ 16.9 ( 86.6 - 52.8
2 -3 20 2 0 0 62.7 £ 17.8 ( 80.6 - 44.9
3 -4 18 2 0 0 56.7 + 18.4 (74,1 - 37.4
4 -5 16 1 3 0 61.9 + 18.7 ( 70.5 - 33.2
5 - 12 12

TOTAL 30 14 4 12

(VR ROV [ RVRVRVEY) (SRR RV (SRR R R (O RV RVE
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26-2. FEERNEFE(H..Po Mo N, &)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALJVE SURV. R+ 2SE 5% STD ERROR

0 -1 8 2 0 0 75.0 + 30.6 (105.6 - 44.4
1 -2 6 0 0 0 75.0 = 30.6 (105.6 - 44.4
2 -3 6 0 0 0 75.0 £ 30.6 (105.6 - 44.4
3 -4 6 0 0 0 76.0 £ 30.6 (105.6 - 44.4
4 -5 6 0 0 0 75.0 £ 30.6 (105.6 - 44.4
5 - 6 6

TOTAL 8 2 0 6

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 [ 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
s - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 9 0 0 0 100.0 =+ 0.0 <100.0 =100.0
1 -2 9 1 0 0 88.9 + 21.0 (109.8 - 67.9
2 -3 8 0 0 0 88.9 + 21.0 (109.8 - 67.9
3 -4 8 1 0 0 77.8 £ 27.7 (105.5 - 50.1
4 - 5 7 1 o] 0 66.7 + 31.4 (98.1 - 35.2
5 6 6

TOTAL 9 3 0 6

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

g -1 49 3 0 0 93.9 £+ 6.8 (100.7 - 87.0
1 -2 46 4 1 0 85.6 £ 10.1 (985.7 - 75.6
2 -3 41 2 2 0 81.3 £ 11.2 (92.6 - 70.1
3 -4 37 3 2 0 74.6 * 12.7 (87.3 - 61.8
4 5 32 1 3 0 72.1 £ 13.2 (85.3 - 58.9
5 - 28 28

TOTAL 49 13 8 28

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 233 24 0 0 89.7 £ 4.0 (93.7 - 85.7
1 -2 208 8 2 0 86.2 £ 4.5 (80.8 - 81.7
2 -3 199 10 1 0 81.9 £+ 5.1 (87.0 - 76.8
3 -4 188 10 5 0 77.5 + 5.5 (83.0 - 72.0
4 -5 173 10 17 0 72.8 £+ 5.9 (78.7 - 66.9
5 - 146 146

TOTAL 233 62 25 146

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 46 5 3 0 88.8 + 9.5 (98.2 - 79.3
1 -2 38 3 0 0 81.8 £ 11.7 (93.4 - 70.1
2 -3 35 4 1 0 72.3 £ 13.6 (85.9 - 58.86
3 -4 30 3 0 0 65.0 £+ 14.6 ( 79.7 - 50.4
4 - 5 27 1 6 0 62.3 £ 15.0 ( 77.3 - 47.4
5 - 20 20

TOTAL 46 16 10 20
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26-3. REEREFR(H..Po.Mo.N.. &)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 2 0 0 0 100.0 £ 0.0 (¢100.0 -100.0
1 -2 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 2 0 0 0 100.0 £ 0.0 (¢100.0 -100.0
3 -4 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
4-5 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 - 2 2

TOTAL 2 0 0 2

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD®S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0,0 0.0 ¢ 0.0~ 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE  SURV.R*2SE 5% STD ERROR
0-1 7 0 0 0 100.0 £ 0.0 (100.0 —100.0
1 -2 7 1 0 0 85.7 + 26.5 (112.2 - 59.3
2-3 6 1 0 0 71.4 + 34.1 (105.6 - 37.3
3-4 5 0 0 0 71.4 £ 34.1 (105.6 - 37.3
4-5 5 2 0 0 42.9 + 37.4 (80.3 - 5.4
5 - 3 3

TOTAL 7 4 0 3

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 24 0 0 0 100.0°% 0.0 <100.0 -100.0
1 -2 24 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 24 2 0 0 91.7 £ 11.3 (103.0 - 80.4
3 -4 22 1 0 0 87.5 £ 13.5 (101.0 - 74.0
4-5 21 1 2 0 83.1 £ 15.4 ( 98.5 - 67.7
5 - 18 18

TOTAL 24 4 2 18

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 130 11 2 0 81.5 + 4.9 ( 96.4 - 86.6
1 -2 117 10 1 0 83.6 £ 6.5 (90.2 - 77.1
2 -3 106 14 1 0 72.5 £+ 7.9 ( 80.4 - 64.6
3 -4 91 6 2 0 67.7 + 83 (76.0 - 59.4
4-5 83 4 8 0 64.3 £ 8.6 ( 72.8 - 55.7
5 - 71 71

TOTAL 130 45 14 71
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% .STD ERROR
0-1 ag 9 0 0 76.9 + 13.5 ( 90.4 — 63.4
1 -2 30 4 0 0 66.7 = 15.1 ( 81.8 - 51.6
2 -3 26 3 0 0 59.0 + 15.8 ( 74.7 - 43.2
3 -4 23 2 0 0 53.8 £ 16.0 ( 69.8 - 37.9
4-5 21 1 3 0 51.1 = 16.1 ( 67.2 - 35.0
5 - 17 17

TOTAL 39 19 3 17
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26-4. FREERNEFE(H,.Po.Mo. N M)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAW CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIV SURV. Rt 2SE 6§X STD ERROR
0 -1 0 0 0 ] 0.0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
I -4 0 0 0 0 6.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
5 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
S - 0 0

TOTAL ] 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5X STD ERROR
0 -1 2 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 2 0 0 0 100.0 £+ 0.0 (100.0 -100.0
3 -4 2 0 1 0 100.0 £+ 0.0 (100.0 -100.0
4 - 5 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 - 1 1

TOTAL 2 0 1 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE §X STD ERROR
0 -1 6 1 0 0 83.3 £ 30.4 (113.8 - 52.9
1 -2 S 0 0 0 83.3 £ 30.4 (113.8 - 52.9
2-3 S 0 0 0 83.3 £ 30.4 (113.8 - 52.9
3 -4 5 0 0 0 83.3 + 30.4 (113.8 - 52.9
4 -5 5 0 0 0 83.3 + 30.4 (113.8 - 52.9
s - 5 ]

TOTAL 6 1 0 5
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 46 6 0 0 87.0 £+ 9.9 (96.9 - 77.0
1 -2 40 7 1 0 71.5 £ 13.4 ( 84.9 - 58.2
2 -3 32 2 0 0 67.1 £ 13.9 (81.0 - 53.1
3 -4 30 2 0 o 62.6 £ 14.4 ( 77.0 - 48.2
4 -5 28 1 2 0 60.3 £ 14.6 ( 74.8 - 45.7
5 - 25 25

TOTAL 486 18 3 25
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 27 10 0 0 63.0 + 18.6 ( B8l1.5 - 44.4
1 -2 17 3 0 0 61.9 £ 19.2 (C 71.1 - 32.6
2 -3 14 1 1 0 48.0 + 19.3 ( 67.3 - 28.7
3 -4 12 1 0 0 44.0 £ 19.3 (63.3 - 24.7
4 - 5 11 2 1 0 35.6 £ 18.9 ( 54.5 - 16.7
5 - 8 8

TOTAL 27 17 2 8
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26-5. ZEEAEFER(H,.Po.Mo.N. &)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE  §X STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 o 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 (] 0.0+ 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 ()}

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 o 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 ] 0 0 0.0+ 0.0 ¢ b.0o- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 (i} 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 ] 0 0.0+ 0.0 ¢ 0.0 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 1 o 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 1 1 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 6 1 0 0 83.3 + 30.4 (113.8 - 52.9
1 -2 5 2 0 0 50.0 + 40.8 ( 90.8 - 9.2
2 -3 3 0 0 0 §0.0 + 40.8 ( 90.8 - 9.2
3 -4 3 0 0 0 50.0 + 40.8 (€ 80.8 - 8.2
4-5 3 o 0 0 §0.0 + 40.8 ( 90.8 - 9.2
5 - 3 3

TOTAL 6 3 0 3
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 5 1 0 0 80.0 + 35.8 (115.8 - 44.2
1 -2 4 0 0 0 80.0 + 35.8 (115.8 - 44.2
2 -3 4 1 0 0 60.0 £ 43.8 (103.8 - 16.2
3 -4 3 0 0 0 60.0 + 43.8 (103.8 - 16.2
4 -5 3 0 0 0 60.0 £ 43.8 (103.8 - 16.2
5 - 3 3

TOTAL 5 2 0 3
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26-6. REEFIEFE(H. Po Mo N EH)

YEAR OF ALIVE AT DIED IN LOST TO WITHPRAWN CUMULAT]VE GREENWQOD’ 8
OBSERVAT BEGINNING INTERVAL FOLLW-UF IN " ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 27 1 0 0 96.3 + 7.3 (03.6 - 89.0
1 -2 26 4 1 0 81.2 + 16.2 ( 96.4 - 66.0
2-3 21 \] 0 0 81.2 £ 16,2 (96.4 - 66.0
3-4 21 1 0 0 77.3 £ 16.3 (93.6 - 61.0
4 -5 20 0 2 0 77.3 + 16.3 (¢ 93.6 - 61.0
6 - 18 18

TOTAL 27 6 3 18

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
GBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rx 2SE° 5% STD ERROR
0 -1 52 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 52 1 1 0 98.1 £ 3.8 (101.9 - 84.2
2-3 60 2 0 0 94.1 £+ 6.6 (100.7 - B87.%6
3 -4 48 0 1 0 94.1 £+ 6.6 (100.7 - 87.6
4 -5 47 2 5 0 89.9 £+ 8.6 (98.5 - 81.3
5 - 40 40

TOTAL 52 S 7 40
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 125 2 2 0 98.4 = 2.3 (100.7 - 96.1
1 -2 121 3 1 0 96.9 + 3.6 (99.5 - 92.4
2 -3 117 7 0 0 80.2 £+ 5.4 (95.6 - 84.8
3 -4 110 4 3 0 86.9 £+ 6.1 (93.0 - 80.8
4 - 5 103 5 4 0 82.6 £+ 6.9 (89.5 - 75.7
5 - 94 94

TOTAL 125 21 10 94

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 114 9 0 0 92.1 £ 6.1 (97.2 - 87.1
1 -2 105 4 1 0 88.6 £+ 6.0 (94.5 - 82.6
2-3 100 8 2 0 81.4 £ 7.3 (88.7 - 74.1
3 -4 S0 8 4 0 74.0 + 8.3 (82.3 - 65.7
4 -5 78 2 9 0 72.0 + 8.6 (80.6 - 63.4
6 - 67 67

TOTAL 114 31 16 67

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 150 13 1 0 81.3 + 4.6 (95.9 - 86.7
1 -2 136 9 0 0 86,3 £+ 5.8 (91.1 - 79.5
2 -3 127 14 1 0 75.8 £ 7.0 ( 82.8 - 68.8
3 -4 112 13 3 0 66.9 £+ 7.7 ( 74.6 - 59.2
4 -6 96 5 13 0 63.2 £+ 8.0 (C71.2 - 55,2
65 - 78 78

TOTAL 160 54 18 78

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0~-1 17 5 0 0 70.6 £ 22.1 (92.7 - 48.5
1 -2 12 2 ] 0 68.8 + 23.9 (82.7 - 35.0
2 -3 10 1 0 0 62.9 + 24.2 (77.2 - 28.7
3 -4 9 1 0 0 47.1 £ 24.2 ( 71.3 - 22,8
4 -5 8 0 0 0 47.1 = 24.2 (71.3 - 22.8
s - 8 8

TOTAL 17 9 o] 8
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUNULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN 'ALIVE SURV. R+ 2SE 6X STD ERROR
Q-1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 3 1 0 0 66.7 + 54.4 (121.1 - 12,2
1 -2 2 0 0 0 66.7 £ 54.4 21.1 - 12.2
2-3 2 0 0 0 66.7 + 54.4 (121.1 - 12.2
3 -4 2 0 0 0 66.7 £ 54.4 (121.1 - 12.2
4 -5 2 0 1 0 66.7 + 54.4 (121.1 - 12.2
5 - 1 1

TOTAL 3 1 1 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 38 0 ] 0 100.0 £ 0.0 (100.0 -100.0
1 -2 39 3 1 0 92.2 £+ 8.6 (100.8 - 83.6
2-3 35 2 0 0 86.8 + 10.9 (97.8 - 76.0
3 -4 33 1 0 0 84.3 £ 11.8 (96.1 - 72,5
4 -5 32 1 1 0 81.6 + 12.6 (94.2 - 69.1
6 - 30 30

TOTAL 39 7 2 30

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 91 10 1 0 89.0 £ 6.6 (95.5 - 82,4
1 -2 80 5 1 0 83.4 + 7.8 (81.2 - 75.5
2-3 74 9 0 0 73.2 £+ 9.4 (82.6 - 63.9
3 -4 65 4 0 0 68.7 £ 9.8 (78.5 - 58.9
4 -5 61 4 7 0 63.9 £ 10.2 ( 74.2 - 53.7
5 - S0 50

TOTAL 91 32 9 50

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 166 12 0 0 92.8 £+ 4.0 (96.8 - 88.8
1 -2 154 8 0 0 88.0 £+ 5.1 (93.0 - 82.9
2-3 146 19 1 0 76.5 £+ 6.6 (83.1 - 69.9
3 -4 126 13 3 0 68.5 £+ 7.2 (75.7 - 61.2
4 -5 110 11 11 o} 61.3 £ 7.7 (68.9 - 63.6
6 - 88 88

TOTAL 166 63 15 88
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5X STD ERROR
0 -1 62 10 0 0 80.8 £ 10.9 (91.7 - 69.8
1 -2 42 7 0 0 67.3 £ 13.0 (80.3 - 54.3
2-3 3s 3 0 0 61.5 £ 13.5 ( 76.0 - 48.0
3 -4 32 2 1 0 67.6 £ 13.7 ( 71.4 - 43.9
4 -6 29 2 3 0 63.4 £ 13.9 (67.4 - 39.5
s - 24 24

TOTAL 52 24 4 24
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ZEAR OF ALIVE AT DIER IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
BSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 0 0 () () 0.0+ 0.0 ¢ 0.0 - 0.0
1-2 0 0 0 0 0.0+ 0.0 ¢ 6.0~ 0.0
2-13 o 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 00 ¢ 0.0~ 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
5 - o 0

TOTAL 0 0 0 ()

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 1 0 0 0 160.0 + 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 <¢100.0 -100.0
2-3 1 0 o 0 100.6 £+ 0.0 (100.0 -100.0
3 -4 1 0 0 0 100.0 + 0.0 <100.0 -100.0
4-5 1 0 0 0 100.0 + 0.0 (100.0 -100.0
5 - 1 1

TOTAL 1 0 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV..R+2SE 5% STD ERROR
0 -1 18 1 0 0 94.4 + 10.8 (105.2 - 83.6
1 -2 17 3 0 0 77.8 + 19.6 ( 97.4 - 58.2
2 -3 14 1 0 0 72.2 + 21,1 ¢ 93.3 - B1.1
3 -4 13 0 0 0 72.2 + 21.1 € 93.3 - 51.1
4 -5 13 2 1 0 60.7 + 23.2 ( 83.9 - 37.5
5 - 10 10

TOTAL 18 7 1 10
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE  GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 44 5 0 0 88.6 t 9.6 (98.2 - 79.1
1 -2 39 5 0 0 77.3 £ 12.6 (€ 89.9 - 64.6
2-23 34 0 1 0 77.3 + 12.6 ( 89.9 - 64.6
3-4 33 6 2 0 62.8 + 14.8 ( 77.6 - 48.0
4-5 25 3 4 0 54.6 + 15.6 ¢ 70.2 - 39.0
5 ~ 18 18

TOTAL 44 19 7 18
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 103 12 2 0 88.2 + 6.4 ( 94.6 - 81.9
1 -2 89 20 1 0 68.3 9.3 ¢ 77.6 - §89.0
2 -3 68 10 1 0 58.2 + 9.9 ¢ 68.0 - 48.3
-4 57 4 1 0 54.1 + 10.0 ¢ 64.0 - 44.1
4 -5 52 4 4 0 49.7 + 10.1 ¢ 59.8 - 39.7
5 - 44 44

TOTAL 103 50 9 44
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 6% STD ERROR
0 -1 52 9 1 0 82.5 + 10.6 (¢ 93.1 - 71.9
1 -2 42 10 o 0 62.9 + 13.5 ( 76.4 - 49.4
2 -3 32 4 1 0 54.9 + 14.0 ¢ 68.9 - 40.9
a-4 27 3 0 0 48.8 + 14.1 ( 62.9 - 34.7
4 - 5 24 0 2 1] 48.8 £ 14.1 (62.9 - 34.7
6 - 22 22

TOTAL 52 26 4 22
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:+2SE 6% STD ERROR
0-1 0 0 0 0 0.0+ 00 ¢ 0.0- 0.0
1 -2 0 o 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3-4 o 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 0 0 0 0 0.0 0.0 ¢ 0.0~ 0.0
1 -2 0 0 0 0 0.0 0.0 C 0.0- 0.0
2-3 0 0 0 0 0.6+ 0.0 ¢ 0.0- 0.0
3-4 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
4-5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 ) ) 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 2 0 0 0 100.0 = 0.0 <(100.0 -100,0
2-3 2 o 0 0 100.0 £ 0.0 (100.0 -100. 0
3-4 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
4-5 2 0 0 0 100.0 £ 0.0 ¢100.0 -100.0
5 - 2 2

TOTAL 2 0 0 2

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 11 2 0 ) 81.8 * 23.3 (105.1 - 58.6
1 -2 9 2 0 0 63.6 + 29.0 (¢ 92.6 - 34.6
2 -3 7 1 1 0 53.8 * 30.4 ( 84.3 - 23.4
3-4 5 1 0 0 43.1 £ 31.1 C( 74.1 - 12.0
4 -6 4 o 0 0 43.1 = 31.1 € 74.1 - 12.0
6 - 4 4

TOTAL 11 6 1 4

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 23 2 [ 0 91.3 + 11.8 (103.1 - 79.6
1 -2 21 2 0 0 82.6 + 15.8 ( 98.4 — 66.8
2 -3 19 5 0 0 60.9 * 20.4 ( 81.2 - 40.5
3 -4 14 2 0 0 52.2 £ 20.8 (¢ 73.0 - 31.3
4-5 12 1 0 0 47.8 £ 20.8 ( 68.7 - 27.0
5 - 11 11

TOTAL 23 12 0 11
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 13 4 0 0 69.2 + 25.6 ( 94.8 — 43.6
1 -2 3 2 0 0 53.8 + 27.7 ( 81.5 - 26.2
2-3 7 1 0 0 46.2 = 27.7 (¢ 73.8 - 18.5
3 -4 6 2 0 o] 30.8 + 25.6 (56.4 - 5.2
4-5 4 0 2 0 30.8 £ 25.6 ( 56.4 - 5.2
5 - 2 2

TOTAL 13 9 2 2
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 0 1} 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 o 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 1] 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 0 0

TOTAL 0 0 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 0 0 [} 0 0.0 £ 0.0 ¢ 0.0 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 [} 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 o] 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 ~-1 3 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 3 2 0 0 33.3 + 54.4 (87.8 —-21.1
2 -3 1 1 0 0 0.0+ 0.0 (¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 3 3 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE §X STD ERROR
0 -1 0 0 0 0 0.0 £ 0.0 ¢ 0.0 - 0.0
1 -2 (4] 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 0 Q0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 1 8 4 0 0 60.0 + 35.4 (85.4 - 14.6
1 -2 4 3 0 0 12.5 £ 23.4 (35.9 --10.9
2 -3 1 1 0 (o} 0.0 £ 0.0 ¢ 0.0- 0.0
I -4 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 1]

TOTAL 8 8 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 13 7 [} 0 46.2 + 27.7 ( 73.8 - 18.5
1 -2 6 3 o] o 23.1 £ 23.4 ( 46.4 - -0.3
2-3 3 1 0 0 15.4 £ 20.0 (35.4 - -4.6
3 -4 2 o] 0 0 15.4 £ 20.0 ( 35.4 - -4.6
4 -5 2 0 0 o] 16.4 £ 20.0 ( 35.4 - -4.6
5 - 2 2

TOTAL 13 11 0 2
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATJVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 36 4 1 0 88.7 + 10.6 ( 989.3 - 78.1
1 -2 a1 1 0 0 85.9 £ 11.7 (97.6 - 74.2
2-3 30 0 0 0 85.9 £ 11.7 (87.6 - 74.2
3 -4 30 0 1 0 85.9 £ 11.7 (97.6 - 74.2
4 s 29 0 2 0 85.9 £+ 11.7 (97.6 - 74.2
6 - 27 27

TOTAL 36 5 4 27

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 25 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 25 i 0 0 96.0 £ 7.8 (103.8 - 88.2
2 -3 24 0 2 0 96.0 + 7.8 (103.8 - 88.2
3 -4 22 1 1 0 91.5 £ 11.5 (103.0 - 80.1
4 -5 20 2 1 0 82.1 + 16.3 ( 98.4 - 65.9
5 - 17 17

TOTAL 25 4 4 17
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 42 2 0 0 96.2 + 6.6 (101.8 - 88.7
1 -2 40 2 0 0 90.56 £+ 9.1 (99.5 - 81.4
2 -3 38 3 0 0 83.3 + 11.5 (94.8 - 71.8
3 -4 35 1 1 0 80.9 * 12,1 (93.1 - 68.8
4 -6 33 2 3 0 76.8 £ 13.4 (88.1 - 62.4
[ 28 28

TOTAL 42 10 4 28

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R: 2SE 6X STD ERROR
0 -1 101 6 0 0 94.1 + 4.7 (98.8 - 89.4
1 -2 956 7 1 0 87.1 + 6.7 (93.8 - 80.4
2-3 87 4 3 0 83.0 £ 7.5 (90.5 - 75.5
3 -4 80 3 6 0 79.8 + 8.1 (87.8 - 717
4 -5 71 1 7 0 78.6 + 8.3 (86.9 - 70.3
5 - 63 63

TOTAL 101 21 17 63
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' 8
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE §X STD ERROR
0 1 304 25 4 0 91.7 £ 3.2 (94.9 - 88.6
1 -2 275 13 2 0 87.4 £+ 3.8 (91.2 - 83.5
2-3 260 18 1 0 81.3 + 4.5 (85.8 - 76.8
3 -4 241 14 S 0 76.56 + 4.9 (81.4 - 71.6
4 -5 222 12 23 0 72.2 £+ 5.2 (77.4 - 66.9
5 - 187 187

TOTAL 304 82 3s 187
YEAR OF ALIVE AT DIED IN LOST TOQ WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 83 10 2 0 87.8 £ 7.2 (985.0 - 80.6
1 -2 71 8 0 o] 77.9 + 9.2 (87.1 - 68.7
2 -3 63 5 1 o 71.7 £ 10.0 (81.7 - 61.7
3 -4 57 5 0 0 65.4 + 10.6 ( 76.0 - 54.8
4 -6 52 3 10 0 61.2 £ 11.0 ( 72.2 - 50.3
5 - 39 38

TOTAL 83 31 13 39
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YEAR QOF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 2 2 0 ] 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 .0+ 00 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4 - 6 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 o}

TOTAL 2 2 o] 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 1 0 0 0 100.0 £+ 0.0 <(100.0 -100.0
1 -2 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 (¢ 0.0- 0.0
3 -4 0 o] 0 0 0.0 0.0 ¢ 0.0- 0.0
4 - 65 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 0 0

TOTAL 1 1 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 65X STD ERROR
0 -1 6 0 0 0 100.0 = 0.0 (100.0 -100.0
1 -2 6 0 0 0 100.0 £+ 0.0 (100.0 -100.0
2-3 6 1] 0 0 100.0 £ 0.0 (100.0 -100.0
3 -4 6 1 1 0 81.8 + 32.9 (114.7 - 48.9
4 -5 4 0 0 0 81.8 £ 32.9 (114.7 - 48.9
5§ - 4 4

TOTAL 6 1 1 4
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 23 0 0 o 100.0 =+ 0.0 (100.0 -100.0
1 -2 23 2 1 0 91.1 £ 12.0 (103.1 - 79.1
2-3 20 1 0 0 86.6 + 14.5 (101.0 - 72.1
3 -4 18 2 0 0 77.4 £ 17.8 (95.2 - 59,7
4 -6 17 1 2 0 72.6 £ 19.1 (91.7 - 53.5
5 - 14 14

TOTAL 23 6 3 14
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 135 11 0 0 91.9 & 4.7 (86.6 - 87.1
1 -2 124 7 2 0 86.6 £ 5.9 (82,6 - 80.8
2 -3 115 7 1 0 81.3 + 6.7 (88.1 - 74.6
3 -4 107 5 2 0 77.56 £+ 7.2 (84.7 - 70.3
4 -5 100 6 9 0 72.6 + 7.8 (80.4 - 64.8
5 - 85 85

TOTAL 135 36 14 86

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 24 5 0 0 79.2 £ 16.6 ( 95.7 - 62.6
1 -2 19 2 1 0 70.6 + 18.7 ( 89.3 - 51.9
2-3 16 2 0 0 61.8 + 20.1 ( 81.9 - 41.7
3 -4 14 2 0 0 §3.0 £ 20.7 ( 73.7 - 32.2
4 -5 12 1 1 0 48.4 £ 20.9 ( 69.2 - 27.5
5 - 10 10

TOTAL 24 12 2 10
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26-13. FREEFEFEEH.PoMoun 2\ﬁﬂ§)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 ! 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
2-3 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
3 -4 1 0 0 0 100.0 £+ 0.0 <100.0 -100.0
4 -6 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
5 - 1 1
TOTAL 1 0 0 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 1 0 0 0 1000 £ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
2-3 1 1 0 0 6.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 1 1 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 5 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 6 1 0 0 80.0 + 35.8 (1165.8 - 44.2
2 -3 4 0 0 0 80.0 £ 35.8 (115.8 - 44.2
3 -4 4 0 0 0 80.0 & 36.8 (115.8 - 44.2
4 -5 4 1 1 0 67.1 £ 46.3 (103.56 - 10.8
6 - 2 2
TOTAL 5 2 1 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0-1 15 1 0 0 93.3 + 12.9 (106.2 - 80.5
1 -2 14 0 0 0 93.3 + 12.9 (106.2 - 80.5
2 -3 14 2 0 0 80.0 £ 20.7 (100.7 - 59.3
3 -4 12 2 0 0 66.7 £ 24.3 (91.0 - 42.3
4 -5 10 0 1 0 66.7 + 24.3 (91.0 - 42.3
5 - 9 9
TOTAL 15 5 1 9
YEAR OF ALIVE AT DIED LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 72 9 0 0 87.5 £+ 7.8 (95.3 - 79.7
1 -2 63 10 1 0 73.5 £ 10.4 (83.9 - 63.1
2-3 52 12 0 0 66.5 + 11.8 ( 68.3 - 44.8
3 -4 40 4 0 0 50.9 £ 11.9 (62.7 - 39.0
4 -5 36 0 2 0 60.9 £ 11.9 (62.7 - 38.0
5 - 34 34
TOTAL 72 35 3 34
YEAR OF ALIVE AT DIED LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 16 3 0 0 80.0 £ 20.7 (100.7 - 59.3
1 -2 12 1 0 0 73.3 £ 22.8 (96.2 - 50.5
2 -3 11 1 1 0 66.3 £ 24.6 (90.8 - 41.8
3 -4 9 1 0 o] 69.0 £ 25.9 (84.9 - 33.1
4 -5 8 o 1 0 69.0 £ 25.9 (84.9 - 33.1
5 - 7 7
TOTAL 15 6 2 7
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26-14. REEHEFEE(H.P:.Mo.n N )

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [N ALIVE SURV.R+2SE 6% STD ERROR
0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
[ 1] 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 0 (] 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 C 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 1} 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 ] 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 1} 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 (] 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4 -8 () 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 i 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE  5X STD ERROR
0-1 4 1 0 0 75.0 + 43..3 (118.3 - 31.7
1 -2 3 2 0 ] 25.0 £+ 43.3 ( 68.3 --18.3
2 -3 1 0 1} 0 25.0 + 43.3 ( 68.3 --18.3
3 -4 1 0 0 0 25.0 + 43.3 (¢ 68.3 --18.3
4 -5 1 0 0 0 26.0 + 43.3 ( 68.3 --18.3
5 - 1 1

TOTAL 4 3 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE  5X STD ERROR
0 -1 23 3 0 0 87.0 £+ 14.0 <(€101.0 - 72.89
1 -2 20 4 1 0 69.1 + 18.4 ( 88.5 - 49.7
2 -3 15 0 0 0 69.1 + 19.4 (¢ 88.5 - 49.7
3 -4 15 1 0 0 64.5 + 20.2 ( B4.7 - 44.3
4 -5 14 1 [} 0 §9.9 + 20.8 ( B0.7 - 39.1
5 13 13

TOTAL 23 9 1 13
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 8 3 0 1} 62.5 + 34.2 ( 96.7 - 28.3
1 -2 5 2 0 0 37.5 + 34.2 (C71.7 - 3.3
2-3 3 1 0 0 25.0 £ 30.6 ( 55.6 - -5.6
3 -4 2 o} 0 0 25.0 £+ 30.6 ( 55.6 — -5.6
4 -5 2 1 0 0 12.5 + 23.4 (35.9 --10.89
5 - 1 1

TOTAL 8 7 0 1
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26-15. gggg”iﬁ*(l‘" 0. Po.Moin hﬁﬂi)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUNULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 0 Q 0 Q 0.0+ 0.0 ¢ 0.0- 00
1 -2 0 ] 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 o 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -6 0 0 0 0 0.0 0.0 (¢,0.0- 0.0
6 - 0 0
TOTAL [ 0 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 0 0 0 0 6.0 0.0 ¢ 0.0 - 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 [ 0 0 6.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 6.0+ 0.0 ¢ 0.0- 0.0
6 - 0 0
TOTAL 0 0 (] 0
YEAR OF ALIVE AT DIED LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 o} o} 0 0.0 0.0 ¢ 0.0- 0.0
1 -2 o] 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 o 0 0 ] 0.0 £ 0.0 ¢ 0.0- 0.0
6 - 0 0
TOTAL 0 0 0 0
YEAR OF ALIVE AT DIED LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 o] 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
I -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 - b 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 0 0 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 4 2 0 o §0.0 + 50.0 (100.0 - 0.0
1 -2 2 1 0 0 25.0 + 43.3 ( 68.3 --18.3
2-3 1 0 0 0 25.0 £ 43.3 (68.3 --18.3
3 -4 1 0 0 0 25.0 + 43.3 ( 68.3 --18.3
4 -6 1 0 0 0 25.0 £ 43.3 (68.3 --18.3
6 - 1 1
TOTAL 4 3 0 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 2 0 0 0 1000 £+ 0.0 (100.0 -100.0
1 -2 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 2 1 0 0 50.0 £ 70.7 (120.7 --20.7
3 -4 1 0 0 0 50.0 £ 70.7 (120.7 --20.7
4 -6 1 ] 0 0 6§0.0 £ 70.7 (120.7 --20.7
5 - 1 1
TOTAL 2 1 0 1
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26-16. REEAEFE(H..PoMo.n o EB)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATJVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 20 1 0 0 96.0 £ 9.7 (104.7 - 85.3
1 -2 19 4 0 1] 76.0 £ 19.4 (894.4 - 55.6
2-3 15 [ 0 0 76.0 + 19.4 (94.4 - B5.6
3 -4 15 1 0 0 70.0 £ 20.5 (90.56 - 49.5
4 -5 14 0 2 0 70.0 £ 20.6 ( 90.5 - 49.5
5 - 12 12

TOTAL 20 6 2 12
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 46 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 46 1 1 0 97.8 £ 4.3 (102,11 - 93.5
2-3 44 2 0 0 93.4 £ 7.4 (100.8 - 85.9
3 -4 42 0 1 0 83.4 + 7.4 (100.8 - 85.9
4 - b 41 1 3 0 91.0 £+ 8.6 (99.6 - 82.4
5 - 37 37

TOTAL 486 4 5 37
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 137 2 2 0 98.5 + 2.1 (100.6 - 86.5
1 -2 133 6 1 0 94.1 £ 4.1 (98,1 -90.0
2 -3 126 6 o 0 89.6 £+ 5.3 (94.9 - 84.3
3 -4 120 3 1 o] 87.3 £ 6.7 (93.1 - 81.6
4 -5 116 3 4 0 85.0 £+ 6.2 (91.2 - 78.9
5 - 109 109

TOTAL 137 20 8 109
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 159 12 1 0 82.4 £+ 4.2 (96.6 - 88.2
1 -2 146 5 1 0 89.3 £+ 4.9 (94.2 - 84.3
2 -3 140 8 4 0 84.1 £+ 5.8 (89.9 - 78,2
3 -4 128 8 4 0 78.7 + 6.6 (853 - 722
4 -5 116 5 11 0 75.2 £ 7.0 (82.2 - 68.2
5 - 100 100

TOTAL 159 3s 21 100
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rx 2SE 5% STD ERROR
0 -1 215 17 2 1] 92.1 £+ 3.7 (95.8 - 88.4
1 -2 196 8 0 0 88.3 + 4.4 (92.7 - 83,9
2 -3 188 14 2 0 81.7 £ 5.3 (87.0 - 76.4
3 -4 172 13 5 0 76.4 £ 5.9 (81.3— 69.5
4 - 5 154 9 18 0 70.7 £ 6.3 C77.1 - 64.4
5 - 127 127

TOTAL 216 61 27 127

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 58 12 0 0 79.3 £ 10.6 (89.9 - 68.7
1 -2 46 2 0 Y 75.9 £ 11.2 (87.1 - 64.6
2 -3 44 1 1 o] 74.1 £ 11.5 ( 85.6 — 62.6
3 -4 42 1 0 0 72.4 £ 11.8 (84.1 - 60.6
4 -5 41 0 3 0 72.4 £ 11.8 (84.1 - 60.6
s - 38 38

TOTAL 58 16 4 38
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26-17. FEEFNEFE(H..PoMon (BB

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULAT]VE GREENWOQD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 1 0 a 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 1 0 0 0 1000 £ 0.0 (100.0 -100.0
2-3 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
3 -4 1 4] 0 0 100.0 =+ 0.0 (100.0 -100.0
4 -5 1 0 0 0 100.0 + 0.0 (100.0 -100.0
5 - 1 1

TOTAL 1 0 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0 -1 3 1 0 0 66.7 + 54.4 (121.1 - 12.2
1 -2 2 0 0 0 66.7 + 54.4 (121.1 - 12.2
2 -3 2 0 0 0 66.7 + 54.4 (121.1 - 12.2
3 -4 2 0 0 0 66.7 + 54.4 (121.1 - 12,2
4 -5 2 0 1 0 66.7 + 54.4 (121.1 - 12,2
5 - 1 1

TOTAL 3 1 1 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOQOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5X STD ERROR
0-1 26 0 0 0 100.0 =+ 0.0 <100.0 -100.0
1 -2 26 1 1 0 86.1 + 7.7 (103.8 - 88.4
2-3 24 3 0 0 84.1 + 14.6 (98.7 - 69.5
3 -4 21 1 1 o] 80.0 + 16.0 ( 96.0 - 63.9
4 -5 19 2 1 0 71.3 £ 18.4 (89.7 - 62,9
6 - 16 16

TOTAL 26 7 3 16

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 60 11 0 0 81.7 £ 10.0 (¢ 91.7 - 71.17
1 -2 49 3 0 0 76.7 + 10.9 ( 87.6 - 65.7
2 -3 46 9 0 0 61.7 £ 12.6 ( 74.2 - 49.1
3 -4 37 S 0 0 63.3 £ 12.9 (66.2 - 40.5
4 -5 32 2 4 0 49.8 + 13.0 (62.7 - 36.8
5 - 26 26

TOTAL 60 30 4 26

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 114 10 0 0 91.2 £+ 6.3 (96.5 - 85.9
1 -2 104 9 1 0 83.3 + 7.0 (90.3 - 76.3
2 -3 94 10 0 0 74.4 £+ 8.2 (82.6 - 66.2
3 -4 84 11 2 0 64.6 £ 9.0 ( 73.6 - 55.6
4 -5 71 6 5 0 68.9 £+ 8.3 (68.2 - 49.6
5 - 60 60

TOTAL 114 46 8 60
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 38 7 1 o] 81.3 £ 12,7 (94.1 - 68.6
1 -2 30 8 0 o] 6.6 + 16.1 ( 75.8 - 43.5
2 -3 22 2 0 0 54.2 + 16.4 ( 70.6 - 37.9
3 -4 20 3 0 0 46.1 + 16.4 ( 62.5 - 29.7
4 -5 17 2 K] [ 40.1 + 16.3 ( 56.4 - 23.9
5 - 12 12

TOTAL 38 22 4 12
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26-18. REEAEFE(Ho.PoMoun .. EHMH)

YEAR OF AL&VE AT DIEE IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ 8
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0-1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
2-3 0 0 0 [} 0.0+ 0.0 ¢ 0.0- 0.0
I3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 000 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 1} 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0 - 0.0,
4 - 5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 o] 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 14 1 0 0 92.9 £ 13.8 (106.6 - 79.1
1 -2 13 1 0 0 85.7 + 18.7 (104.4 - 67.0
2 -3 12 1 0 0 78.6 £ 21.9 (100.5 - 56.6
3 -4 11 1 0 0 71.4 £ 24.1 (85.6 - 47.3
4 -5 10 2 1 0 66.4 + 26.8 (83.2 - 29.5
6 - 7 7

TOTAL 14 6 1 7

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5X STD ERROR
0 -1 34 3 0 0 91.2 £ 8.7 (100.9 - 81.4
1 -2 31 5 1 0 76.2 + 14.7 (90.9 - 61.5
2-3 25 1 0 0 73.2 £ 15.3 (88.5 - 57.9
3 -4 24 5 2 0 §7.3 £ 17.4 ( 74.7 - 39.9
4 -5 17 2 4 0 49.6 + 18.1 (67.7 - 31.5
5 - 11 11

TOTAL 34 16 7 11

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 72 6 1 0 9]1.6 £ 6.6 (98,2 - 85.1
1 -2 65 11 o 0 76.1 £ 10.1 (86.2 - 66.0
2-3 54 14 1 0 56.2 + 11.8 (.68.0 - 44.4
3 -4 39 5 0 0 49.0 £ 11.9 (60.9 - 37.1
4 - 5 34 5 4 0 41.3 £ 11.9 ( 63.2 - 29.5
5 - 25 25

TOTAL 72 41 6 25

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 27 7 0 0 74.1 = 16.9 (80.9 - 57.2
1 -2 20 7 0 0 48.1 = 18.2 (67.4 - 28,9
2 -3 13 3 o] 0 37.0 = 18.6 (55.6 - 18.5
3 -4 10 2 1 0 29.2 + 17.6 ( 46.8 - 11.6
4 -5 7 0 1 0 2.2 £ 17.6 ( 46.8 - 11.6
5 - 6 6

TOTAL 27 18 2 6
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26-19. REEHEFR(H..Po.Mo. n . EB)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' §
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0 -1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 [ 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 o] 0 (¢} 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0

TOTAL 0 [ 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R 2SE 5% STD ERROR
0 -1 5 0 0 0 100.0 + 0.0 (100.0 -100.0
1 -2 5 3 0 0 40.0 + 43.8 ( 83.8 - -3.8
2 -3 2 0 0 0 40.0 + 43.8 (83.8 - -3.8
3 -4 2 o] 0 0 40.0 + 43.8 ( 83.8 - -3.8
4 -5 2 1 0 0 20.0 £ 35.8 ( 55.8 --15.8
5 - 1 1

TOTAL 5 4 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 7 1 0 1] 85.7 £ 26.6 (112.2 - 59.3
1 -2 6 4 0 0 28.6 £ 34.1 (62.7 - -5.6
2 3 2 0 0 0 28.6 £ 34.1 (62.7 - -5.6
3 -4 2 0 0 0 28.6 £+ 34.1 (62.7 - -5.6
4 -5 2 ] 0 0 28.6 + 34.1 (62.7 - -5.6
5 - 2 2

TOTAL 7 S 0 2

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 26 3 0 0 88.5 £ 12.5 (101.0 - 75.9
1 -2 23 8 0 0 57.7 £ 19.4 ( 77.1 - 38,3
2 -3 15 6 0 0 34.6 £ 18.7 (53.3 - 16.0
3 -4 9 4 0 0 19.2 £+ 156.5 (34.7 - 3.8
4 - 5 ) 0 0 0 18.2 + 15.5 ( 34.7 - 3.8
5 - 5 5

TOTAL 26 21 0 5
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2S5E 5% STD ERROR
0 -1 8 2 0 0 75.0 £ 30.6 (105.6 — 44.4
1 -2 6 2 0 0 50.0 £ 35.4 (85.4 - 14.6
2 -3 4 2 0 0 25.0 £ 30.6 ( 55.6 - -5.6
3 -4 2 2 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 8 8 0 o]
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26-20. PEEREFE(H, PoMo. n . BB

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULAT]VE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 8% STD ERROR
0-1 0 0 Q 0 0.0 0.0 ¢ 0.0 - 0.0
1 -2 0] 0 0 0 6.0+ 0.0 ¢ 0.0- 0.0
2-3 0 ] 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
4 -6 0 0 0 0 0.0 + 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 0 ] o 0 0.0+ 0.0 ¢ 0.0 - 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0 0.0
5 - 0 0

TOTAL 0 0 ] 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
2-3 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 o] 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -6 [¢] 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 1 1 0 ]

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
1 2 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 00+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL ] 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 7 3 0 ] §7.1 £ 37.4 (94.6 - 19.7
1 -2 4 3 0 0 14.3 £ 26.5 ( 40.7 --12.2
2-3 1 1 0 0 0.0t 0.0 ¢ 0.0~ 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 ] 0 0.0+ 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 7 7 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 6 3 0 o] 50.0 + 40.8 (90.8 - 9.2
1 -2 3 2 0 0 16.7 + 30.4 ( 47.1 --13.8
2-3 1 1 [ [ 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 6 6 ] 0

(SRRt [V RV RV v v v (R RVRVEY) (O RV RV VRV
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27-1. KIBEMELOFASTEIC L DEFR(RRY) (k)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 85 6 1 0 93.7 £+ 5.0 (98.7 - 88.6
1 -2 88 4 0 0 89.4 £+ 6.3 (957 - 83.1
2 -3 84 3 3 0 86.1 £+ 7.1 (93.3 - 79.0
3 -4 78 2 3 0 83.9 £+ 7.6 (91.5 - 76.3
4 -5 73 1 8 0 82.7 £ 7.9 (980.6 - 74.8
5 - 64 64

TOTAL 95 16 15 64

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 210 17 2 0 91.9 + 3.8 (95.6 - 88.1
1 -2 191 16 3 0 84.1 + 5.1 (89.2 - 179.0
2 -3 172 15 1 0 76.8 + 5.9 (82.6 - 70.9
3 -4 156 11 4 0 71.3 + 6.3 (77.6 - 64.8
4 -5 141 6 13 0 68.1 £+ 6.6 (74.6 - 61.5
5 122 122

TOTAL 210 65 23 122

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 376 38 3 0 89.9 + 3.1 (983.0 - 86.7
1 -2 335 21 4 0 84.2 + 3.8 (88.0 - 80.4
2 -3 310 18 4 0 79.3 £+ 4.2 (83.5 - 75.1
3 -4 288 19 7 0 74.0 + 4.6 ( 78.5 - 69.4
4 - 5 262 i4 239 0 69.8 + 4.8 ( 74.6 - 65.0
5§ - 219 218

TOTAL 376 110 47 219
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 286 38 2 0 86.7 =+ 4.0 (980.7 - 82.6
1 -2 246 26 2 o] 77.5 £+ 5.0 (82.4 - 72,5
2 -3 218 23 2 0 69.3 £+ 5.5 (74.7 - 63.8
3 -4 193 12 3 0 64.9 £+ 5.7 (70.6 - 59.2
4 5 178 11 16 ] 60.7 £+ 5.9 (66.6 - 54.9
5 - 151 151

TOTAL 286 110 25 151

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD. ERROR
0 -1 250 127 3 0 48.9 + 6.3 (55.2 - 42.6
1 -2 120 49 2 0 28.8 + 5.8 (34.5 - 23.0
2 -3 69 16 4 0 21.9 £+ 5.3 (27.2 - 16.6
3 -4 49 7 1 o 18.7 £+ 5.1 (23.8 - 13.7
4 - 5 41 5 3 0 16.4 £ 4.8 (C21.2 - 11.5
5 - 33 33

TOTAL 250 204 13 33

(PR RV RNR ~ v (PR (VR RVEVEY]

(VR R RN



21-2. KIBERRROBYSIEIC L DEFR(ARY) (EB)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 205 3 2 0 98.5 £+ 1.7 <(100.2 - 96.8
1 -2 200 8 3 0 94.6 £+ 3.2 (97.7 - 91.4
2 -3 189 9 1 0 90.0 £+ 4.2 (94.3 - 85.8
3 -4 179 4 4 0 88.0 £+ 4.6 (92.6 - 83.4
4 -6 17 8 13 0 83.7 £ 5.3 (89.0 - 78.5
5 - 150 160

TOTAL 205 32 23 150

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 272 23 1 0 91.5 + 3.4 (94.9 - 88.1
1 -2 248 13 1 o] 86.7 £+ 4.1 (90.8 - 82.6
2-3 234 22 3 0 78.5 £+ 5.0 (83.5 - 73.5
3 -4 209 20 8 0 70.9 £+ 5.6 (76.4 - 65.3
4 -5 181 7 22 0 67.9 + 5.8 (73.7 - 62.2
5 - 152 152

TOTAL 272 85 35 152
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 367 38 1 0 89.6 £+ 3.2 (92.8 - 86.4
1 -2 328 26 2 0 82.5 + 4.0 (86.5 - 78.5
2-3 300 34 1 0 73.1 £+ 4.6 (77.8 - 68.5
3 -4 265 21 4 0 67.3 £ 4.9 (72.2 - 62.4
4 -5 240 18 23 0 62.0 £+ 5.1 (67.1 - 56.9
5 - 199 189

TOTAL 367 137 31 198
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE §X STD ERROR
0o-1 265 35 3 0 B6.7 £+ 4.2 (90.9 - 82,5
1 -2 227 44 1 0 69.9 £ 5.7 (75.5 - 64.2
2-3 182 22 4 0 61.3 £+ 6.0 (67.4 - 55.3
3 -4 158 17 3 0 64.6 £ 6.2 (60.8 - 48.4
4 -5 136 10 12 0 50.4 £+ 6.3 (656.6 - 44.1
s - 114 114

TOTAL 265 128 23 114
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 173 83 2 0 51.7 £ 7.6 (58.4 - 44.1
1 -2 88 44 1 [ 25,7 £ 6.7 «(32.4 - 19.0
2 -3 43 20 0 0 13.8 £+ 5.3 (19.1 - 8.5
3 -4 23 6 0 0 10,2 + 4.7 (14.8 - 5.5
4 - 5 17 1 1 0 9.6 + 4.5 (14.1 - 5.0
s - 15 15

TOTAL 173 154 4 15

[CRVEVRVEV] (P RVEVRRY) [VRVEVEVEW) (A RVEV RV}
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27-3. KIBEFRSOFMSEC & 2 EFRHBREER) (Kh)

YEAR OF ALIVE AT DIEpD IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 96 4 0 0 95.8 £ 4.1 (99.9 - gl.8
1 -2 92 4 0 d] 91.7 £ 5.6 (97.3 - 86.0
2 -3 88 5 2 0 86.4 £+ 7.0 (983.4 - 79.4
3 -4 81 4 4 0 82.0 £ 7.9 (89.9 - 74.1
4 - 6 73 1 k] 0 80.8 £+ 8.1 (89.0 - 72,7
5 - 63 63

TOTAL 96 18 15 63

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE §X STD ERROR
0-1 220 21 2 0 90.4 £ 4.0 (94.4 - 86.4
1 -2 187 16 4 0 83.0 + 5.1 (88.1-77.9
2 -3 177 14 2 0 76.4 + 5.8 (82.2 - 70.6
3 -4 161 10 3 0 71.6 + 6.2 (77.8 - 65.4
4 -5 148 6 13 0 68.6 + 6.4 ( 74.9 - 62.2
5 - 129 128

TOTAL 220 67 24 129

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 383 34 4 0 81.1 £+ 2.9 (94.0 - 88.2
1 -2 345 24 3 0 84.7 £+ 3.7 (88.4 - 81.0
2 -3 318 19 4 0 79.6 £+ 4.1 (83.8 - 75.5
3 -4 29§ 17 8 o] 76.0 £+ 4.5 (79.4 - 70.5
4 -5 270 15 27 0 70.6 + 4.8 ( 75.3 - 65.8
5 - 228 228

TOTAL 383 108 46 228

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5X STD ERROR
0 -1 282 33 2 0 88.3 £+ 3.8 (92,1 - B4.4
1 -2 247 24 2 0 79.6 £ 4.8 (84.5 - 74.8
2 -3 221 21 2 0 72.0 £ 5.4 (77.4 - 66.7
3 -4 188 14 3 0 66.9 £ 5.7 (72.6 - 61.3
4 -6 181 11 16 0 62.7 £+ 6.8 (68.5 - 56.8
5 - 164 154

TOTAL 282 103 25 154

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 249 119 4 0 51.8 £+ 6.4 (58.2 - 45.5
1 -2 126 51 3 0 30.6 £+ 5.9 (36.5 - 24.7
2 -3 72 16 4 0 23.6 £ 5.5 (29.1 - 18.1
3 -4 52 7 1 0 20.4 £ 5.3 (257 - 15.1
4 -5 44 6 3 0 17.6 £ 5.0 (22,5 - 12.5
5 - 35 35

TOTAL 249 199 15 35

(VR RVRVEV] (PR R VRV v (SRR
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27-4. KIBEMRSOBMSEICL I EFR(BREN) (EH)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE §X STD ERROR
0 -1 224 2 2 ] 99,1 + .3 (100.4 - 87.8
1 -2 220 6 2 0 96.4 £ 2.5 (98,9 - 93.9
2-3 212 11 2 0 91.4 £ 3.8 (95.2 - 87.6
3 -4 199 7 4 0 88,1 + 4.4 (92.5 - 83.7
4 -5 188 7 18 0 84.7 £ 4.9 (89.6 - 79.8
5 - 163 163

TOTAL 224 33 28 163
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 268 25 0 0 90.7 £ 3.6 (984.2 - 87.1
1 -2 243 17 2 0 84.3 £ 4.4 (88.8 - 79.9
2 -3 224 22 2 0 76.0 + 5.2 (81.2 - 70.7
3 -4 200 17 7 0 69.4 £ 5.7 (751 - 63.7
4 -5 176 7 20 0 66.5 + 5.8 (72.3 - 60.6
5 - 149 149

TOTAL 268 88 31 149

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 391 39 1 0 90.0 £+ 3.0 (93.0 - 87.0
1 -2 351 31 2 0 82.0 + 3.9 (859 -178.2
2 -3 318 33 1 0 73.5 £ 4.5 (78.0 - 69.0
3 -4 284 24 4 0 67.3 £+ 4.8 (72.0 - 62.5
4 s 256 20 26 0 61.7 £ 5.0 (66.7 - 56.7
5 - 210 210

TOTAL 391 147 34 210
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 268 35 3 0 86.9 £+ 4.1 (91.0 - 82.7
1 -2 230 43 1 0 70.6 + 5.6 (76.2 - 65.0
2 -3 186 23 5 o] 61.7 £+ 6.0 (67.7 - 55.8
3 -4 158 19 3 0 64.2 £ 6.2 (60.4 - 48.1
4 -5 136 11 12 0 4.7 £+ 6.2 ( 55.9 - 43.4
s - 113 113

TOTAL 268 131 24 113

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 1587 66 1 0 57.8 £+ 7.9 (65.7 - 49.9
1 -2 80 44 1 0 29.4 + 7.3 (36.7 - 22.1
2 -3 45 20 0 0 16.3 £+ 6.0 (22.3 - 10.4
3 -4 25 5 0 0 13.1 £ 5.4 (18.5 - 7.6
4 - 5 20 1 1 0 12.4 £ 5.3 (17.7 - 7.1
s - 18 18

TOTAL 157 136 3 18

(SR RVEVEW] [V RVEV VRV [VRVEVRVEY) (SRR RV
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28-1.DukesHERIEFR . BRFAAREIER)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE &% STD ERROR
0 -1 125 4 0 0 96.8 + 3.1 ( 99.9 - 93.7
1 -2 121 4 0 0 93.6 + 4.4 ( 98.0 - 89.2
Dukes A 2 -3 117 8 2 0 87.1 £+ 6.0 ¢ 93.1 - 81.1
3 -4 107 4 5 0 83.8 + 6.6 ( 90.4 - 77.2
4-5 98 3 7 o 81.1 £+ 7.1 (882 - 74.0
5 88 88
TOTAL 125 23 14 88
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 6% STD ERROR
o -1 456 a7 6 0 91.8 £ 2.6 ( 94.4 - 89.3
1 -2 413 25 3 0 86.3 + 3.2 ( 89.5 - 83.0
Dukes B 2-3 385 19 6 o 82.0 + 3.6 (856 - 78.3
3 -4 360 18 8 0 77.8 + 3.9 (81.8 - 73.9
4-5 334 18 36 0 73.4 + 4.2 C77.6 - 69.2
5 - 280 280
TOTAL 456 117 59 280
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 308 30 0 0 90.3 + 3.4 (93.6 - 86.9
Duk 1 -2 278 27 6 0 81.4 £+ 4.4 (€ 85.8 - 77.0
ukes C 2 -3 245 26 2 0 72.7 + 5.1 (77.8 - 61.6
3 -4 217 15 4 o 67.7 + 5.4 (73.0 - 62.3
4-5 198 9 16 0 64.4 + 5.5 ( 70.0 - 58.9
5 - 173 173
TOTAL 308 107 28 173
SURVIVAL RATE A:in= 125 0—— o
28_1 n P=0.01 =P=0.05 B:n= 456 ¢------ <}
C in= 308 guvorerrne s
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28-2. DukesHRRHERE K. BRFHIFLTIER

YEAR OF ALIVE AT PIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R:2SE 6% STD ERROR
0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.6+ 0.0 ¢ 0.0- 0.0
Dukes A 2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
3-4 0 0 0 o 0.0 0.6 ¢ 0.0~ 0.0
4-5 0 0 0 o 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL o 0 0 o
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 6% STD ERROR
0-1 22 7 1 0 67.4 £+ 20.2 (¢ 87.7 - 47.2
1 -2 14 5 0 0 43.4 + 21.6 (¢ 65.0 - 21.7
Dukes B 2-3 9 1 0 0 38.5 £+ 21.3 ( 59.8 - 17.3
3 -4 8 2 1 0 28.3 £ 19.9 ( 48.2 - 8.3
4-65 5 0 1 0 28.3 + 19.9 (48.2 - 8.3
5 - 4 4
TOTAL 22 15 3 4
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 45 8 0 0 82.2 + 11.4 (¢ 83.6 - 70.8
1 -2 a7 8 0 o 64.4 + 14.3 (€ 78.7 - 50.2
Dukes C 2-3 29 3 0 0 6§7.8 + 14.7 ( 72.6 - 43.1
3 -4 26 4 0 0 48.9 + 14.9 ( 63.8 - 34.0
4-5 22 2 1 0 44.3 + 14.8 (59,2 - 29.5
5 - 19 19
TOTAL 45 25 1 19
- SURVIVAL RATE Bin= 224------
28 2 C:n= 45: -‘:
Dukes - &5 x
FETE R 100

50

B
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28-3. Dukess}RRBIEFE(EMW. BMPHEHYER)

Dukes A

Dukes B

Dukes C

28—3
Dukes « BB
et ol

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUNULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 263 6 2 0 97.7 £ 1.8 (99.6 - 85.9
1 -2 256 6 1 0 96.8 + 2.6 (98.3 - 93.83
2-3 249 11 2 0 91.56 £+ 3.6 (985.0 - 88,1
3 -4 236 6 3 0 89.2 + 3.9 (93.1 - 856.3
4 -6 227 5 14 0 87.2 £+ 4.2 (91.3 - 83.0
5 - 208 208

TOTAL 263 33 22 208

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR
0-1 384 31 2 0 91.9 + 2.8 (94.7 - 89.1
1 -2 351 20 2 0 86.7 £ 3.5 (90.1 - 83.2
2-3 329 22 7 ] 80.8 + 4.0 ( 84.8 - 76.8
3 -4 300 18 7 0 75.9 + 4.4 (80.3 - 71.5
4 -5 275 15 31 0 71.5 =+ 4.7 (76.2 - 66.8
5 - 229 229

TOTAL 384 106 49 229

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 386 35 2 0 90.9 £+ 2.9 (93.8 - 88.0
1 -2 349 47 2 0 78.6 £+ 4.2 (82.8 - 74.4
2-3 300 42 1 ] 67.6 £ 4.8 ( 72.4 - 62.8
3 -4 257 41 5 0 66.7 £ 6.1 (61.8 - 51.6
4 -5 211 20 23 0 61.0 £ 6.2 (56.2 - 45.9
§ - 168 168

TOTAL 386 185 33 168

SURVIVAL RATE

§P=0.01 =P=0. 05

—100—

(R AR LR

(R



28-4. DukesS3¥RplEF®(ERB. EMFHIAMIER

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULAT]VE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE  6X STD ERROR
0-1 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 2 0 0 0 1000 £ 0.0 (100.0 -100. 0
Dukes A 2-3 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
a-4 2 o 0 0 100.0 £ 0.0 (100.0 -100.0
4 -5 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 - 2 2
TOTAL 2 () 0 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 13 6 0 0 68.4 £ 21.3 (89.7 - 47.1
1 -2 13 4 0 0 47.4 + 22.9 (70.3 - 24.5
Dukes B 2 -3 9 2 0 0 36.8 + 22,1 (¢ 59.0 - 14.7
3-4 7 2 0 0 26.3 £ 20.2 ( 46.5 - 6.1
4-5 5 1 1 0 20.5 + 18.8 (¢ 39.3 - 1.7
5 - 3 3
TOTAL 19 15 1 3
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 78 23 0 0 70.5 + 10.3 ( 80.8 - 60.2
1 -2 55 24 0 (] 39.7 + 11.1 ( 50.8 - 28.7
Dukes C 2 -3 31 11 0 0 25,6 + 9.9 (355 - 15.8
3 -4 20 2 1 0 23.0 £+ 9.5 (32.6 - 13.5
4-5 17 3 2 0 18.7 + 9.0 (¢27.7 - 9.7
5 - 12 12
TOTAL 78 63 3 12
SURVIVAL RATE A:n= 20— o
28_4 Bins 194.-.... -
C:n= 78 —a
Dukes « E B x
FETER 10T
\\
\.
50

.

P
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29-1. Astler-Coller3¥(C L 2EHFR (K. BREFABRUIER)

B.

C.

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' 8
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
o -1 60 3 0 0 96.0 £+ 6.6 (100.6 - 89.4
1 -2 67 3 0 0 90.0 £ 7.7 (987.7 - B2.3
2 -3 54 0 2 0 80.0 £ 7.7 (97.7 - 82,3
3 -4 52 1 2 o] 88.2 + 8.4 (86.6 - 79.9
4 -6 49 2 4 0 84.56 £ 9.6 (94.0 - 74.9
5 - 43 43

TOTAL 60 9 8 43

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0 -1 65 1 0 0 98.5 £+ 3.1 (101.5 - 95.4
1 -2 64 1 0 0 86.9 + 4.3 (101.2 - 92.6
2 -3 63 8 0 0 84.6 £ 9.0 (93.6 - 75.7
3 -4 65 3 3 0 79.9 + 10.0 (89.9 - 69.89
4 -5 49 1 3 0 78.2 £ 10.3 ( 88.5 - 67.9
6 - 45 45

TOTAL 65 14 6 45

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 456 37 6 0 91.8 + 2.6 (94.4 - 89.3
1 -2 413 25 3 0 B6.3 £+ 3.2 (89.5 - 83.0
2 -3 385 19 6 0 82.0 £+ 3.6 (85.6 - 78.3
3 -4 360 18 8 0 77.8 &£ 3.9 (81.8 - 73.9
4 - 5 334 18 36 0 73.4 £ 4.2 (77.6 - 69.2
5 - 280 280

TOTAL 456 117 59 280

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 18 2 0 0 88.9 + 14.8 (103.7 - 74.1
1 -2 16 1 0 0 83.3 £ 17.6 (100.9 - 65.8
2-3 15 2 o] 0 72.2 £ 21.1 (93,3 - 51.1
3 -4 13 1 0 0 66.7 + 22.2 ( 88.9 - 44.4
4 -5 12 1 1 ] 60.9 + 23.1 (84.0 - 37.8
5 - 10 10

TOTAL 18 7 1 10

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 290 28 0 0 90.3 £+ 3.5 (93.8 - 86.9
1 -2 262 26 6 0 81.3 £+ 4.6 (859 -76.7
2 -3 230 24 2 0 72.8 + 5.3 (78.0 - 67.5
3 -4 204 14 4 0 67.7 £ 6.5 (73.3 - 62.2
4 - 6 186 8 15 0 64.7 £ 5.7 (70.4 - 59.0
5 - 163 163

TOTAL 290 100 27 163
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29-2.

B,

B

C.

C.

Astler-Coller B (C & R EFR(EN. HEFEM3EABYIER)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-~-1 0 0 0 0 0.0t 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 o] 0.0+ 0.0 ¢ 0.0~ 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 0 0 o] 0 0.0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 6.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0 -1 22 7 1 0 67.4 £ 20.2 (87.7 - 47.2
1 -2 14 5 0 0 43.4 + 21.6 (65.0 - 21.7
2-3 9 1 0 0 38.5 £+ 21.3 (659.8 - 17.3
3 -4 8 2 1 0 28.3 + 19.9 (48.2 - 8.3
4 -5 5 0 1 0 28.3 + 19.9 (48.2 - 8.3
5 - 4 4

TOTAL 22 15 3 4

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 4 1 0 0 75.0 + 43.3 (118.3 - 31.7
1 -2 3 0 0 0 75.0 £ 43.3 (118.3 - 31.7
2 -3 3 0 0 0 75.0 £+ 43.3 (18.3 - 31.7
3 -4 3 0 0 0 75.0 + 43.3 (118.3 - 31.7
4 -5 3 0 0 0 75.0 £ 43.3 (118.3 - 31.7
5 - 3 3

TOTAL 4 1 [ 3

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 41 7 0 0 82.9 + 11.8 (94.7 - 71.2
1 2 34 8 0 0 63.4 £ 156.0 ( 78.5 - 48.4
2 -3 26 3 0 0 6.1 £ 15.5 ( 71.6 - 40.6
3 -4 23 4 0 0 46.3 + 15.6 ( 61.9 - 30.8
4 -5 19 2 1 0 41.3 £ 15.4 ( 56.8 - 25.9
5 - 16 16

TOTAL 41 24 1 16
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29-3.

B.

C.

C.

Astler-Coller 3 3B(C & 2EHFR(EB. EBFARYIER)

YEAR OF ALIVE AT DJED IN LOST TQ W]THDRAWN CUMULATIVE GREENVOO'?'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Ri 2SE 6% STD ERROR
0-1 84 1 0 0 868.8 + 2.4 (101.2 - 96.4
1 -2 83 4 1 0 94.0 £ 5.2 (99.2 - 88.8
2-3 78 3 1 0 90.4 £+ 6.5 (96.8B - 83.9
3 -4 74 1 1 0 89.1 £+ 6.8 (96.0 - B2.3
4 -5 72 2 7 0 86.6 £+ 7.6 (94.1 - 79.0
5 - 63 63

TOTAL 84 11 10 63

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 179 5 2 0 97.2 + 2.5 (99.7 - 94.7
1 -2 172 1 0 (] 96.6 + 2.7 (99.3 - 93.9
2-3 171 8 1 0 92.1 + 4.1 (96.1 - 88.0
3 -4 162 5 2 0 89.2 + 4.7 (93.9 - 84.6
4 -5 185 3 7 0 87.5 £+ 5.0 (92.6 - 82.5
5 - 145 145

TOTAL 179 22 12 145

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 65X STD ERROR
0 -1 384 31 2 0 91.9 £+ 2.8 (94.7 - 89.1
1 -2 351 20 2 0 86.7 + 3.5 (90.1 - 83.2
2 -3 329 22 7 o] 80.8 + 4.0 (84.8 - 76.8
3 -4 300 18 7 o] 75.9 + 4.4 (80.3 - 71.5
4 -5 275 15 31 0 71.5 + 4.7 (76.2 - 66.8
5 - 229 229

TOTAL 384 106 49 229

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 52 4 V] 0 82.3 £ 7.4 (99.7 - 84.9
1 -2 48 2 1 0 88.4 + 8.9 (97.3 - 79.5
2 -3 45 4 0 0 80.6 £ 11.0 ( 91.6 - 69.5
3 -4 41 5 1 0 70.6 £ 12.8 ( 83.4 - 57.8
4 -5 35 3 5 0 64.1 + 13.6 ( 77.7 - 50.5
s - 27 27

TOTAL 52 18 7 27

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN . CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 334 31 2 0 0.7 £+ 3.2 (93.9 - 87.5
1 -2 301 45 1 0 77.1 £+ 4.6 (81.7 - 72.5
2 -3 255 38 1 0 65.6 £+ 5.2 (70.8 - 60.4
3 -4 216 36 4 0 54.6 £ 6.5 (60.0 - 49.1
4 - 56 176 17 18 0 49.0 =+ 5.8 (54.6 - 43.5
5 - 141 141

TOTAL 334 167 26 141
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29-4. Astler-Collers3RRIC I 2 EFR(EMN. BREFAIEAMYIER)

B,

B.

C.

YEAR OF ALIVE AT DIED IN LOST TO ITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP N ALIVE SURV. Rt 2SE 6% STD ERROR
Q-1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 [ 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 0 0 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 2 0 0 0 100.0 £+ 0.0 <(100.0 -100.0
1 -2 2 0 0 0 100.0 £+ 0.0 (100.0 -100.0
2-3 2 0 0 0 100.0 + 0.0 (100.0 -100.0
3 -4 2 0 0 0 100.0 £+ 0.0 (100.0 -100.0
4 - b 2 0 0 0 100.0 £ 0.0 <(100.0 -100.0
5 - 2 2

TOTAL 2 0 0 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0 -1 19 [] 0 0 68.4 £ 21.3 (89.7 - 47.1
1 -2 13 4 0 0 47.4 + 22.9 ( 70.3 - 24.5
2-3 9 2 0 0 36.8 + 22.1 (59.0 - 14.7
3 -4 7 2 0 0 26.3 £ 20.2 (46.5 - 6.1
4 -6 S 1 1 ] 20.5 + 18.8 (39.3 - 1.7
6 - 3 3

TOTAL 19 15 1 3
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 4 0 0 0 100.0 + 0.0 (100.0 -100.0
1 -2 4 1 [ 0 75.0 £ 43.3 (118.3 - 31.7
2 -3 3 0 0 0 75.0 + 43.3 (118.3 - 31.7
3 -4 3 0 0 0 75.0 £ 43.3 (118.3 - 31.7
4 -5 3 2 0 0 25.0 + 43.3 ( 68.3 --18.3
65 - 1 1

TOTAL 4 3 0 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 74 23 0 0 68.9 + 10.8 ( 79.7 - 58:2
1 -2 51 23 0 0 37.8 £ 11.3 ( 48.1 - 26.6
2 -3 28 11 0 0 23.0 £+ 9.8 (32.8 - 13.2
3 -4 17 2 1 0 20.2 + 9.4 (29.5 - 10.8
4 -5 14 1 2 0 18.6 + 9.1 (27.8 - 9.5
6 - 11 11

TOTAL 74 60 3 11
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SURVIVAL RATE
29—1 ¥P=0.01 «P=0.05

Astler-Coller
B - AR

0 ¥ k4 3 L} B YEARS
29_2 SURVIVAL RATE B2:n= 22 puirceeenn. o
Clin= 4o ———a
Astler-Coller . Coine 41 somma

&R - FETERE
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29—3
Astler-Coller
B - B

29—4
Astler-Coller
B - FEAR

SURVIVAL RATE
#P=0.01 »P=Q, 05

SURVIVAL RATE Bl:
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15 &3¢

ZRRBEHIZESKBEOTRETFORA:

SASHPHGLM procedure % FV). propotional bazard model (Cox)(Z & D BE#HT
L.

WEB 15 (B4, 50E) . HB2F (BHSL, 5258E) RUBHSAER
DIEFT. 5+, FE8x. FHEAR. S8 AREs MHBEsx FEx
BAEs, Px, Hx, Mx*, ZEEFEx JHHFE+ (Re. Ri. Rz, Ra) ., #HHBE
x aw-owk | WBEEx WRE FRICARITITHEHLEFIOSNZAERTD
B/RPETRTLENTWVWS 3, UUEMICOWTSEHDEFR X IEE L L THE
¥, Thonib, MAIERFEHEZOSNLZUEAT (M) Z72WT, &
BBV ITORA, HL, aw- oW (DIERDB S Leh 7D TEEL, P,
HA ME—ELTERBEBLLTES>ZkicLR, UTIREATF. BRFDIE
FBLESEEFEREIAILETT.

®1-1 HAFHSHELEFR (BF1~3)

" F i B SELEFE (%)
1. #%
L8 1,408 66. 1
B 1,833 58.2
2. Bl
<50 860 61.9
50=s, 60> 754 67.3
60=s, 70> 956 62.5
70= 671 53. 6
3. BRI
& B 1,402 65.5
H 1,768 59.0



®1-2 AFHSELEFER (HF4~9)

¥ iE FI & SELEFEE (%)
4. RERE
RIE 138 84.8
&% 316 71.8
fR &) & 9% 2,350 62.0
XHRE (BFEE) 415 46. 9
E2 gl 22 8.2
5. A&
=1/3 313 82.8
1/3<, 1/22 476 64.9
1/2<, 2/32 644 60. 6
2/3<, LA 602 62.0
2R 1,206 55.1
6. BKIE
<50mm 1,279 66.8
50mms, 100mm> 1,794 58.7
100mns 168 53.2

7. BRE® (P, H,L M)

() 2,876 67.4
(+) 365 15.4
8. HWHEE
Rs 1,106 69.5
R 1, 495 62.6
R 544 46. 4
Re 96 40.5
£9. Hig
well 2,071 67.1
mod 891 55. 3
poor (muc) 269 42.2
sig ring 10 20.0

ff 2



#®1-3 AFHSEL£EFEH (BFI0~11)

¥ JiE B B SELEHFH (%)
10. ZFEE
m, sm 188 85.4
pm, ss (a1) 1,336 73.0
s (az) 1,468 52.3
sif(ai) 233 36.8
11. Y »/NE
ne 1,867 74. 8
ni 746 53.0
ne 463 38.6
ns 165 16. 6

®2 HAFHVRIK

ki VA7
1. VUNBER 4.7766
2. BRE® (P, HO M) 3.6828
3. EEE 3.1794
4. FRHE 2.6199
5. M 1.9275
6. & M 1.5817
7. AIRE 1. 4381
8. Wi (EMB - ¥k) 1.3933
9. # 1.2455
10. & & 1.1436
11. BKZE 1.1029

3



£ AEEERBERSE
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FR#N53 - 545 EEIEDI

WFI634F- 6 20 H EI R

WARIB3 6 A 30 F $547
R 17T #H
R R

)R A KFESE 21 2B
T589  KBRAF AR BRILITH ARFH3TT— 2
TEL 0723 (66) 0221
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